	STAFF SUMMARY	SIGNATUR	RE PAGE	
☐ Secretary Approval	☐ MassDOT Board Approv	/al	Prepared by:	Hema Bhatt
Department: Highway Division	Program Manager: John J. Bechard	email: john.bechard@dot.state.ma.us		Telephone: 508-751-1755
Contract No./Subject: 1305 Bosto	i48 on – Tunnel Preservation within M	HS Tunnels		Date Prepared: 8/25/2025
	Imp	lications		
X Capital Budget	Operating Budget Lega	I □ Other		

PURPOSE:

The purpose of this Staff Summary is to request that the Board of Directors authorize and approve the Secretary/CEO, or their designee, to execute MassDOT Contract No. 130548 titled Boston – Tunnel Preservation within MHS Tunnels, for construction, with J. F. White Contracting Co, for the amount of \$52,182,001.00 and for a total duration, not to exceed, 1095 days from Notice to Proceed (NTP).

TOTAL PROGRAM BUDGET:

The MHS Tunnels Preservation Project has a total program budget of \$64,727,001.19, which includes the following:

Bid Amount	\$52,182,001.00
Contingencies (15%)	\$7,827,300.14
Construction Engineering (5%)	\$2,609,100.05
Specialty Services	\$15,000.00
Traffic Police	\$2,093,600.00
Total	\$64,727,001.19

DISCUSSION:

The award of Contract No. 130548 titled Boston – Tunnel Preservation within MHS Tunnels serves as hybrid project to address deficiency across Tunnel Network and improvement to crumbling infrastructure for safety and reliability, as the Tunnel system is integral to destination connectivity within Boston region and Logan airport.

The work comprised repairs to Callahan Tunnel Ceiling System, cleaning and painting Callahan Tunnel ceiling stringers, adding sump pump to Vent Building 1 basement level, installation of waterproof coating over subsurface embankment within Parcel 22 adjacent to Air Intake Structure, demolition to expose the fire standpipe expansion joints within Ted William Tunnel and installation of Fire rated access doors for maintenance, CASB Standpipe trench repairs, Performing preservation activities in various Tunnels for Leak sealing, Fireproofing repairs, overhead concrete repairs, wall panel anchor repairs, surface joint repairs, cleaning and repairs to tanks and sluice gates in Pump Stations and drainage repairs.

PROCUREMENT:

On June 7, 2025, the Highway Division advertised this contract for bids. On August 19, 2025, two (2) bids were opened for this contract. J. F. White Contracting Co was the lowest responsive and eligible bidder with a bid price of \$52,182,001.00.

The bids were reviewed by engineers in the Major Projects, Construction, and Construction Contracts sections. The Highway Division has accepted the bid submitted by J. F. White Contracting Co, which at \$52,182,001.00 is 24.62% above the office estimate of \$41,871,668.00.

The following is the list of the bidders with the corresponding bid prices:

J. F. WHITE CONTRACTING CO \$52,182,001.00 SPS NEW ENGLAND INC \$56,334,301.50

	STAFF SUMMARY	SIGNATUR	RE PAGE	
☐ Secretary Approval	☐ MassDOT Board Approv	/al	Prepared by:	Hema Bhatt
Department: Highway Division	Program Manager: John J. Bechard	email: john.bechard@do	t.state.ma.us	Telephone: 508-751-1755
Contract No./Subject: 1305 Bosto	i48 on – Tunnel Preservation within M	HS Tunnels		Date Prepared: 8/25/2025
	Imp	lications		
X Capital Budget	Operating Budget ☐ Lega	I □ Other		

Disadvantaged Business Enterprise ("DBE") participation is required. The DBE requirement for this Project is 14% of the Contract. MassDOT's Office for Diversity and Civil Rights has reviewed the DBE information included in the Proposal of the chosen bidder and recommends award of the DB Contract to this team.

FINANCIAL IMPACT/BUDGET SOURCE:

This action is funded through the NFA – Metropolitan Highway System (MHS) - Site Specific funding.

FUTURE ANTICIPATED AUTHORIZATIONS:

There are no future anticipated authorizations.

RECOMMENDATIONS:

It is recommended that the Board of Directors authorize the Secretary, or their designee, to award and execute MassDOT Contract No. 130548 Entitled Boston - Tunnel Preservation within MHS Tunnels, with J. F. White Contracting Co, in a form approved by the General Counsel, in the amount of \$52,182,001.00.

COORDINATION WITH:

Office of Diversity and Civil Rights
Engineering and Maintenance
Environmental
Capital Programs
Budget and Finance
Legal Department

ATTACHMENTS:

Tab A – Vote [to be completed by Legal]

RESOURCE/REFERENCE DOCUMENTS:

Bid Average
Bid Results
Bid Tabulations
Eligible Bidders Listing
Low Bidder by Bid Items with Affidavit
Schedule of Participation by Disadvant

Schedule of Participation by Disadvantaged Business Enterprises (DBEs)





 Project #
 : 612603

 Bids Open Date : 19 Aug 2025

Location : BOSTON Contract #: 130548

District : 6

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 2
100.1	7,500.000	HR	BASE LABOR RATE	\$160.00	\$345.00	\$285.00
100.11	1,900.000	HR	INSPECTION OF LEAK SEALING LOCATIONS	\$125.00	\$392.00	\$200.00
107.831	2.000	EA	WALL PANEL REMOVED AND RESET (LEAK SEALING)	\$3,585.00	\$16,000.00	\$8,500.00
107.833	600.000	SF	WALL PANEL REMOVED FURNISHED AND INSTALLED	\$105.00	\$265.00	\$680.00
107.834	1,000.000	EA	TILE 8X8	\$20.00	\$1.50	\$24.00
107.835	300.000	SF	TILE 2X2	\$20.00	\$9.50	\$55.00
107.836	6,000.000	EA	INSTALL TILE 8X8	\$30.00	\$20.00	\$48.51
107.837	300.000	SF	INSTALL TILE 2X2	\$50.00	\$45.00	\$76.00
107.855	1,600.000	FT	PRESSURE INJECTION OF CRACKS	\$50.00	\$227.00	\$65.00
107.874	160.000	FT	MISCELLANEOUS JOINT REPAIR - BASE SLAB	\$500.00	\$377.00	\$48.00
107.881	175.000	HR	LEAK SEALING - TYPE I	\$1,065.00	\$1,958.00	\$700.00
107.882	175.000	HR	LEAK SEALING - TYPE II	\$1,065.00	\$1,958.00	\$750.00
107.883	175.000	HR	LEAK SEALING - TYPE III	\$1,120.00	\$1,958.00	\$800.00
107.884	2,800.000	HR	LEAK SEALING TYPE - IV	\$2,440.00	\$1,960.00	\$2,100.00
107.885	175.000	HR	LEAK SEALING - TYPE V	\$2,440.00	\$2,059.00	\$1,050.00
107.892	1,000.000	SF	WEARING SURFACE REPAIR	\$250.00	\$61.00	\$135.00
107.893	250.000	SF	CONCRETE AND SLURRY WALL REPAIR - TYPE I	\$300.00	\$281.00	\$100.00
107.894	350.000	CF	CONCRETE AND SLURRY WALL REPAIR - TYPE II	\$750.00	\$1,200.00	\$250.00
107.895	500.000	CF	CONCRETE AND SLURRY WALL REPAIR - TYPE III	\$1,200.00	\$960.00	\$275.00
107.896	25.000	CY	CONCRETE AND SLURRY WALL REPAIR - TYPE IV	\$17,000.00	\$23,500.00	\$1,000.00
107.897	50.000	CY	OVERHEAD CONCRETE REPAIR	\$42,000.00	\$47,500.00	\$69,750.00
107.898	1,000.000	SF	REMOVAL OF DETERIORATED CONCRETE	\$25.00	\$227.00	\$75.00
107.971	10.000	EA	HANDRAIL REMOVE AND RESET	\$2,500.00	\$6,415.00	\$6,000.00
107.972	2.000	EA	CALLAHAN PORTAL PUMP STATION STAIR REPLACEMENT	\$100,000.00	\$90,000.00	\$85,650.00
107.973	25.000	EA	CALLAHAN TUNNEL CEILING STRINGER TYPE 1 REPLACEMENT	\$13,000.00	\$25,200.00	\$17,500.00
107.974	5.000	EA	CALLAHAN TUNNEL CEILING STRINGER TYPE 2 REPLACEMENT	\$18,000.00	\$33,000.00	\$22,500.00
107.975	10.000	EA	HANGER TYPE 1 INSTALL	\$12,000.00	\$18,500.00	\$12,500.00
107.976	10.000	EA	HANGER TYPE 2 INSTALL	\$14,000.00	\$16,800.00	\$15,500.00

 Project #
 : 612603
 Bids Open Date : 19 Aug 2025

 Location
 : BOSTON
 Contract # : 130548

District : 6

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 2
107.977	15.000	EA	HANGER TYPE 3 INSTALL	\$15,000.00	\$16,600.00	\$15,575.00
107.978	5.000	EA	HANGER TYPE 4 INSTALL	\$15,000.00	\$18,900.00	\$17,250.00
107.981	5.000	EA	REPLACE SINGLE DOOR	\$20,000.00	\$24,400.00	\$25,000.00
107.982	5.000	EA	REBUILD SINGLE DOOR	\$10,000.00	\$9,573.00	\$3,500.00
107.983	5.000	EA	REBUILD DOUBLE DOOR	\$12,000.00	\$12,100.00	\$4,000.00
107.984	5.000	EA	REBUILD I-90 CROSS PASSAGE DOOR	\$15,000.00	\$12,500.00	\$5,500.00
107.985	25.000	EA	REBUILD I-93 CROSS PASSAGE DOOR	\$15,000.00	\$13,700.00	\$5,500.00
107.991	200.000	EA	STAINLESS STEEL PANEL REMOVE AND RESET	\$10.00	\$405.00	\$50.00
107.992	100.000	SF	CMU BLOCK WALL REMOVE AND REBUILD (LEAK SEALING)	\$20.00	\$84.00	\$60.00
107.993	250.000	HR	MISC. METAL ELEC, MECH REMOVE AND RESET	\$95.00	\$650.00	\$150.00
107.994	300.000	EA	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 1	\$750.00	\$1,807.00	\$1,850.00
107.995	150.000	EA	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 2	\$1,600.00	\$2,256.00	\$2,875.00
107.996	25.000	EA	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 3	\$6,000.00	\$8,345.00	\$7,200.00
107.997	10,000.000	SF	REMOVAL OF SIP FORM WITHIN GIRDER BAY	\$5.00	\$21.00	\$42.00
107.998	20,000.000	SF	REPAIR OR REPLACEMENT FIREPROOFING	\$225.00	\$95.00	\$195.00
107.999	6,250.000	SF	INSTALL RIGID BOARD FIREPROOFING	\$150.00	\$100.00	\$192.00
108.001	15.000	EA	REMOVE EXISTING GIRDER BAY HATCH	\$335.00	\$1,713.00	\$2,500.00
108.002	15.000	EA	FURNISH AND INSTALL NEW GIRDER BAY HATCH	\$1,230.00	\$9,267.00	\$10,500.00
108.003	15.000	EA	REHABILITATE EXISTING GIRDER BAY HATCH	\$400.00	\$3,037.00	\$1,250.00
109.01	5.000	EA	LEAK PLUG FOR 1-INCH CONDUIT	\$225.00	\$10,700.00	\$395.00
109.02	5.000	EA	LEAK PLUG FOR 2-INCH CONDUIT	\$280.00	\$10,800.00	\$405.00
109.025	5.000	EA	LEAK PLUG FOR 2-INCH CONDUIT (MULTI CABLE)	\$405.00	\$10,800.00	\$410.00
109.03	5.000	EA	LEAK PLUG FOR 3-INCH CONDUIT	\$280.00	\$10,900.00	\$425.00
109.035	5.000	EA	LEAK PLUG FOR 3-INCH CONDUIT (MULTI CABLE)	\$420.00	\$10,900.00	\$440.00
109.04	5.000	EA	LEAK PLUG FOR 4-INCH CONDUIT	\$450.00	\$11,200.00	\$450.00
109.045	5.000	EA	LEAK PLUG FOR 4-INCH CONDUIT (MULTI CABLE)	\$560.00	\$11,000.00	\$455.00
109.05	5.000	EA	LEAK PLUG FOR 5-INCH CONDUIT	\$505.00	\$11,200.00	\$465.00
109.055	5.000	EA	LEAK PLUG FOR 5-INCH CONDUIT (MULTI CABLE)	\$615.00	\$11,200.00	\$495.00
120.1	325.000	CY	UNCLASSIFIED EXCAVATION	\$75.00	\$84.00	\$35.00

 Project #
 : 612603
 Bids Open Date : 19 Aug 2025

 Location
 : BOSTON
 Contract # : 130548

District : 6

Description: BOSTON- TUNNEL PRESERVATION WITHIN MHS TUNNELS

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 2
131.11	1,000.000	GAL	DEWATERING	\$20.00	\$24.00	\$21.00
141.1	5.000	CY	TEST PIT FOR EXPLORATION	\$300.00	\$1,191.00	\$850.00
160.2	100.000	CY	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	\$300.00	\$1,110.00	\$403.00
180.01	1.000	LS	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	\$10,000.00	\$7,500.00	\$15,550.00
180.02	100.000	HR	PERSONAL PROTECTION LEVEL C UPGRADE	\$12.00	\$46.00	\$25.00
180.03	100.000	HR	LICENSED SITE PROFESSIONAL SERVICES	\$150.00	\$133.00	\$150.00
181.11	52.000	TON	DISPOSAL OF UNREGULATED SOIL	\$55.00	\$49.00	\$98.00
181.12	52.000	TON	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	\$105.00	\$99.00	\$100.00
181.13	395.000	TON	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	\$210.00	\$156.00	\$128.00
181.14	26.000	TON	DISPOSAL OF HAZARDOUS WASTE	\$570.00	\$720.00	\$610.00
183.1	1,000.000	GAL	TREATMENT OF CONTAMINATED GROUNDWATER	\$15.00	\$23.00	\$40.00
183.2	500.000	LB	DISPOSAL OF GRANULAR ACTIVATED CARBON	\$8.00	\$17.00	\$35.00
221.11	5.000	EA	FRAME AND COVER - CIRCULAR (TYPE 1)	\$2,200.00	\$8,023.00	\$5,950.00
221.111	15.000	EA	REMOVE AND PLATE EXISTING ROADWAY STRUCTURE	\$3,250.00	\$520.00	\$4,000.00
221.12	60.000	EA	FRAME AND COVER - CIRCULAR (TYPE 2)	\$2,600.00	\$8,991.00	\$6,000.00
221.13	10.000	EA	FRAME AND COVER - CIRCULAR (TYPE 3)	\$3,200.00	\$9,596.00	\$6,250.00
221.14	5.000	EA	FRAME AND COVER - RECTANGULAR (TYPE 1)	\$2,350.00	\$8,249.00	\$5,000.00
221.15	10.000	EA	FRAME AND COVER - RECTANGULAR (TYPE 2)	\$3,000.00	\$12,500.00	\$7,500.00
221.16	20.000	EA	FRAME AND COVER - RECTANGULAR (TYPE 3)	\$4,000.00	\$17,500.00	\$11,000.00
222.01	100.000	FT	INSTALL ROADWAY JOINT UNDERDRAIN ASSEMBLY - TYPE A	\$2,800.00	\$1,546.00	\$1,325.00
222.1	5.000	EA	FRAME AND GRATE - MASSDOT CASCADE TYPE	\$6,050.00	\$6,843.00	\$3,500.00
222.111	6.000	EA	CATCH BASIN FRAME AND COVER	\$1,500.00	\$2,795.00	\$1,500.00
222.112	6.000	EA	CATCH BASIN FRAME AND COVER - INSTALL	\$2,500.00	\$5,588.00	\$5,000.00
223.21	250.000	EA	TUNNEL DRAIN INLET GRATE	\$400.00	\$668.00	\$450.00
223.22	50.000	EA	TUNNEL DRAIN INLET GRATE AND FRAME	\$800.00	\$2,916.00	\$2,100.00
223.23	10.000	EA	INSTALL TUNNEL DRAIN INLET GRATE	\$400.00	\$337.00	\$1,275.00
223.24	50.000	EA	INSTALL TUNNEL DRAIN INLET GRATE AND FRAME	\$3,500.00	\$6,472.00	\$3,275.00
227.3	10.000	CY	REMOVAL OF DRAINAGE STRUCTURE SEDIMENT	\$140.00	\$900.00	\$100.00

CMS106 - Report Date: 8/20/2025 7:29 AM Page 3 of 7

 Project #
 : 612603
 Bids Open Date : 19 Aug 2025

 Location
 : BOSTON
 Contract # : 130548

District : 6

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 2
227.31	100.000	FT	REMOVAL OF DRAINAGE PIPE SEDIMENT	\$20.00	\$54.00	\$32.00
227.32	500.000	FT	BARRIER DRAINAGE TROUGH CLEANING	\$35.00	\$26.00	\$20.00
227.33	5.000	EA	CLEAN OUT DRAIN (4-INCH AND SMALLER)	\$1,345.00	\$774.00	\$438.00
227.34	5.000	EA	CLEAN OUT DRAIN (LARGER THAN 4-INCH)	\$450.00	\$779.00	\$440.00
227.35	5.000	EA	CLEAN OUT DRAIN (SUPPLY PLENUM)	\$1,010.00	\$774.00	\$575.00
227.36	20.000	FT	CLEAN OUT DRAIN PIPE (4-INCH AND SMALLER)	\$45.00	\$38.00	\$12.00
227.37	20.000	FT	CLEAN OUT DRAIN PIPE (LARGER THAN 4-INCH)	\$10.00	\$48.00	\$27.00
227.38	20.000	FT	CLEAN OUT DRAIN PIPE (SUPPLY PLENUM)	\$20.00	\$24.00	\$12.00
227.39	10.000	EA	BARRIER DRAIN REPAIR	\$3,585.00	\$2,827.00	\$2,375.00
227.41	30.000	HR	DRAIN INSPECTION CREW HOUR	\$1,000.00	\$2,623.00	\$560.00
443.1	1.000	LS	CONSTRUCTION DUST CONTROL PLAN	\$10,000.00	\$65,000.00	\$5,100.00
451.	50.000	TON	HMA FOR PATCHING	\$240.00	\$912.00	\$1,250.00
452.	13.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$9.50	\$35.00	\$55.00
453.	72.000	FT	HMA JOINT ADHESIVE	\$1.00	\$63.00	\$4.50
472.	50.000	TON	TEMPORARY ASPHALT PATCHING	\$225.00	\$551.00	\$915.00
476.4	1,500.000	SF	WEARING SURFACE REPAIR - TECHCRETE REPAIR	\$75.00	\$127.00	\$52.00
747.	1.000	LS	EQUIPMENT FOR ENGINEERS FIELD OFFICE	\$30,000.00	\$645,700.00	\$18,500.00
748.	1.000	LS	MOBILIZATION	\$500,000.00	\$1,560,000.00	\$1,450,250.00
748.5	1.000	LS	CONSTRUCTION NOISE CONTROL	\$15,000.00	\$125,000.00	\$18,750.00
813.61	50.000	EA	EQUIPMENT GROUNDING	\$1,200.00	\$1,581.00	\$595.00
813.62	25.000	EA	GROUND BUS REPAIR	\$500.00	\$10,600.00	\$1,150.00
813.63	25.000	EA	GROUND BUS REPLACEMENT	\$1,500.00	\$4,008.00	\$1,250.00
819.833	100.000	FT	MICROLOOP ANTENNA INSTALLED IN ROADWAY	\$100.00	\$66.00	\$145.00
851.1	25.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$160.00	\$1,348.00	\$500.00
852.	400.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$12.50	\$45.00	\$22.00
853.1	10.000	EA	PORTABLE BREAKAWAY BARRICADE TYPE III	\$130.00	\$209.00	\$155.00
853.403	50.000	DAY	TRUCK MOUNTED ATTENUATOR	\$275.00	\$495.00	\$1,500.00
854.6	50.000	DAY	TEMPORARY PORTABLE RUMBLE STRIP	\$55.00	\$200.00	\$20.00
856.	50.000	DAY	ARROW BOARD	\$20.00	\$17.00	\$10.00

 Project #
 : 612603
 Bids Open Date : 19 Aug 2025

 Location
 : BOSTON
 Contract # : 130548

District : 6

Description: BOSTON- TUNNEL PRESERVATION WITHIN MHS TUNNELS

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 2
856.12	50.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$30.00	\$34.00	\$28.00
859.	50.000	DAY	REFLECTORIZED DRUM	\$1.00	\$0.70	\$0.25
859.1	50.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$5.25	\$51.00	\$6.00
910.1	1,000.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$3.75	\$3.00	\$2.50
960.1	4,000.000	LB	STRUCTURAL STEEL - COATED STEEL	\$35.00	\$59.00	\$66.00
960.13	4,280.000	LB	STAINLESS STEEL	\$50.00	\$76.00	\$88.00
961.3	225.000	FT	CLEAN AND PAINT STRUCTURAL STEEL	\$8,000.00	\$1,327.00	\$5,300.00
961.4	50.000	EA	CLEAN AND PAINT SOLDIER PILES	\$17,500.00	\$4,647.00	\$9,500.00
961.5	200.000	FT	CLEAN AND PRIME CALLAHAN CEILING STRINGER	\$600.00	\$557.00	\$1,450.00
961.6	200.000	FT	FINISH PAINT CALLAHAN CEILING STRINGER	\$150.00	\$78.00	\$725.00
965.21	140.000	SY	MEMBRANE WATERPROOFING SPRAY APPLIED	\$67.50	\$333.00	\$175.00
998.11	10.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 1)	\$170,000.00	\$220,000.00	\$275,000.00
998.12	5.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 2)	\$200,000.00	\$334,000.00	\$285,000.00
998.13	6.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 3)	\$50,000.00	\$61,900.00	\$165,000.00
998.14	1.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 4)	\$200,000.00	\$189,200.00	\$283,000.00
998.15	2.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 5)	\$180,000.00	\$250,000.00	\$295,000.00
998.16	2.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 6)	\$5,000.00	\$3,584.00	\$75,000.00
998.17	26.000	EA	TWT CONDUIT	\$3,500.00	\$304.00	\$11,500.00
998.18	5.000	EA	TWT FORCEMAIN	\$2,500.00	\$1,931.00	\$12,500.00
998.19	17.000	EA	TWT PIPE REMOVAL	\$1,000.00	\$989.00	\$1,275.00
998.2	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM CLEANING AND SURVEY	\$325,000.00	\$1,353,000.00	\$755,896.00
998.221	185.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (RECTANGLE)	\$11,000.00	\$11,600.00	\$11,500.00
998.222	10.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (TRAPEZOID)	\$12,000.00	\$11,600.00	\$15,000.00
998.223	35.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (WITH EXHAUST OPENING)	\$16,000.00	\$11,600.00	\$15,000.00
998.224	3.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (ACCESS HATCH)	\$13,000.00	\$11,600.00	\$15,000.00
998.225	20.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING COVE	\$1,000.00	\$73.00	\$2,100.00
998.226	40.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING DUCT CLOSURE	\$1,000.00	\$63.00	\$3,200.00

CMS106 - Report Date: 8/20/2025 7:29 AM

 Project #
 : 612603
 Bids Open Date : 19 Aug 2025

 Location
 : BOSTON
 Contract # : 130548

District : 6

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 2
998.227	20.000	EA	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING COVE	\$500.00	\$2,540.00	\$1,350.00
998.228	40.000	EA	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING DUCT CLOSURE	\$1,000.00	\$1,502.00	\$2,600.00
998.23	233.000	EA	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING PANEL	\$10,000.00	\$10,200.00	\$7,500.00
998.231	500.000	SF	CALLAHAN TUNNEL CEILING PANEL REPAIR - TYPE A	\$20.00	\$163.00	\$20.00
998.232	500.000	SF	CALLAHAN TUNNEL CEILING PANEL REPAIR - TYPE B	\$600.00	\$730.00	\$250.00
998.233	10.000	EA	CALLAHAN TUNNEL CEILING PANEL FLUE RETROFIT	\$5,000.00	\$17,900.00	\$14,500.00
998.234	3.000	EA	CALLAHAN TUNNEL CEILING PANEL ACCESS HATCH	\$10,000.00	\$9,556.00	\$11,500.00
998.24	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM BULKHEAD REHABILITATION	\$75,000.00	\$48,500.00	\$128,550.00
998.25	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM BALANCING	\$225,000.00	\$174,200.00	\$285,500.00
998.31	1.000	LS	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REHABILITATION WEST DUCT	\$575,000.00	\$1,375,000.00	\$1,455,855.00
998.32	1.000	LS	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REHABILITATION EAST DUCT	\$575,000.00	\$716,400.00	\$1,350,450.00
998.33	1,200.000	SF	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REPAIRS	\$200.00	\$339.00	\$550.00
998.4	100.000	CY	REMOVAL OF SUPPLY PLENUM DEBRIS	\$375.00	\$969.00	\$400.33
998.5	5.000	EA	I-90 SUPPLY PLENUM PRECAST SIP FORM REMOVAL	\$30,000.00	\$69,400.00	\$32,150.00
998.61	3,481.000	LF	REPLACEMENT COVER FOR STANDPIPE TRENCH	\$275.00	\$1,265.00	\$1,625.00
998.62	4.000	EA	EGRESS RAMP CONSTRUCTION	\$25,000.00	\$10,400.00	\$78,650.00
998.63	32.000	EA	PULLBOX WATERPROOFING	\$2,000.00	\$2,809.00	\$19,550.00
998.64	10.000	EA	STANDPIPE TRENCH DRAIN	\$2,500.00	\$635.00	\$4,500.00
998.71	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE	\$350,000.00	\$155,800.00	\$250,250.00
998.72	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE - ELECTRICAL/SCADA	\$150,000.00	\$653,200.00	\$580,210.00
998.73	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE - PLUMBING	\$150,000.00	\$208,100.00	\$195,600.00
998.81	6.000	EA	SETTLING TANK CLEANING INSPECTION AND LINING	\$100,000.00	\$83,500.00	\$125,500.00
998.82	3.000	EA	PUMP STATION SLUICE GATE OPERATOR REPAIR	\$14,000.00	\$95,600.00	\$95,500.00
998.821	1.000	EA	PUMP STATION SLUICE GATE REPAIR TYPE A	\$8,000.00	\$97,900.00	\$135,650.00
998.822	3.000	EA	PUMP STATION SLUICE GATE REPAIR TYPE B	\$25,000.00	\$133,500.00	\$168,000.00
998.83	2.000	EA	PUMP STATION WEIR VALVE REPAIR	\$8,000.00	\$29,100.00	\$65,850.00

Project # Bids Open Date: 19 Aug 2025 : 612603 Location : BOSTON

Contract # : 130548

District : 6

Description : BOSTON-TUNNEL PRESERVATION WITHIN MHS TUNNELS

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 2
998.91	1.000	LS	PARCEL 22 PHASE 1	\$587,500.00	\$558,900.00	\$550,750.00
998.92	1.000	LS	PARCEL 22 PHASE 2	\$392,600.00	\$31,900.00	\$787,875.00

Page 7 of 7 CMS106 - Report Date: 8/20/2025 7:29 AM



BIDS OPENED - Tuesday - August 19, 2025



Bids Unit

BOSTON - 612603 - 130548 - FAP# None - 61060650 - Tunnel Preservation within MHS Tunnels

DBE % (goal): 14.00 % MWBE % (goal): SDVOB % (goal):

OFFICE ESTIMATE: \$41,871,668.00

J F WHITE CONTRACTING CO

10 Burr Street, Framingham, MA, 01701

\$52,182,001.00

SPS NEW ENGLAND INC

98 Elm Street, Salisbury, MA, 01952

\$56,334,301.50





 Project #
 : 612603

 Location
 : BOSTON

 Bids Open Date : 19 Aug 2025

 Contract # : 130548

District : 6

					Office Estimate	J F WHITE CO	ONTRACTING CO
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
100.1	7,500.000	HR	BASE LABOR RATE	\$160.00	\$1,200,000.00	\$345.00	\$2,587,500.00
100.11	1,900.000	HR	INSPECTION OF LEAK SEALING LOCATIONS	\$125.00	\$237,500.00	\$392.00	\$744,800.00
107.831	2.000	EA	WALL PANEL REMOVED AND RESET (LEAK SEALING)	\$3,585.00	\$7,170.00	\$16,000.00	\$32,000.00
107.833	600.000	SF	WALL PANEL REMOVED FURNISHED AND INSTALLED	\$105.00	\$63,000.00	\$265.00	\$159,000.00
107.834	1,000.000	EA	TILE 8X8	\$20.00	\$20,000.00	\$1.50	\$1,500.00
107.835	300.000	SF	TILE 2X2	\$20.00	\$6,000.00	\$9.50	\$2,850.00
107.836	6,000.000	EA	INSTALL TILE 8X8	\$30.00	\$180,000.00	\$20.00	\$120,000.00
107.837	300.000	SF	INSTALL TILE 2X2	\$50.00	\$15,000.00	\$45.00	\$13,500.00
107.855	1,600.000	FT	PRESSURE INJECTION OF CRACKS	\$50.00	\$80,000.00	\$227.00	\$363,200.00
107.874	160.000	FT	MISCELLANEOUS JOINT REPAIR - BASE SLAB	\$500.00	\$80,000.00	\$377.00	\$60,320.00
107.881	175.000	HR	LEAK SEALING - TYPE I	\$1,065.00	\$186,375.00	\$1,958.00	\$342,650.00
107.882	175.000	HR	LEAK SEALING - TYPE II	\$1,065.00	\$186,375.00	\$1,958.00	\$342,650.00
107.883	175.000	HR	LEAK SEALING - TYPE III	\$1,120.00	\$196,000.00	\$1,958.00	\$342,650.00
107.884	2,800.000	HR	LEAK SEALING TYPE - IV	\$2,440.00	\$6,832,000.00	\$1,960.00	\$5,488,000.00
107.885	175.000	HR	LEAK SEALING - TYPE V	\$2,440.00	\$427,000.00	\$2,059.00	\$360,325.00
107.892	1,000.000	SF	WEARING SURFACE REPAIR	\$250.00	\$250,000.00	\$61.00	\$61,000.00
107.893	250.000	SF	CONCRETE AND SLURRY WALL REPAIR - TYPE I	\$300.00	\$75,000.00	\$281.00	\$70,250.00
107.894	350.000	CF	CONCRETE AND SLURRY WALL REPAIR - TYPE II	\$750.00	\$262,500.00	\$1,200.00	\$420,000.00
107.895	500.000	CF	CONCRETE AND SLURRY WALL REPAIR - TYPE III	\$1,200.00	\$600,000.00	\$960.00	\$480,000.00
107.896	25.000	CY	CONCRETE AND SLURRY WALL REPAIR - TYPE IV	\$17,000.00	\$425,000.00	\$23,500.00	\$587,500.00
107.897	50.000	CY	OVERHEAD CONCRETE REPAIR	\$42,000.00	\$2,100,000.00	\$47,500.00	\$2,375,000.00
107.898	1,000.000	SF	REMOVAL OF DETERIORATED CONCRETE	\$25.00	\$25,000.00	\$227.00	\$227,000.00
107.971	10.000	EA	HANDRAIL REMOVE AND RESET	\$2,500.00	\$25,000.00	\$6,415.00	\$64,150.00
107.972	2.000	EA	CALLAHAN PORTAL PUMP STATION STAIR REPLACEMENT	\$100,000.00	\$200,000.00	\$90,000.00	\$180,000.00
107.973	25.000	EA	CALLAHAN TUNNEL CEILING STRINGER TYPE 1 REPLACEMENT	\$13,000.00	\$325,000.00	\$25,200.00	\$630,000.00

Project #: 612603Location: BOSTONContract #: 130548

District : 6

					Office Estimate	J F WHITE CONTRACTING CO	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
107.974	5.000	EA	CALLAHAN TUNNEL CEILING STRINGER TYPE 2 REPLACEMENT	\$18,000.00	\$90,000.00	\$33,000.00	\$165,000.00
107.975	10.000	EA	HANGER TYPE 1 INSTALL	\$12,000.00	\$120,000.00	\$18,500.00	\$185,000.00
107.976	10.000	EA	HANGER TYPE 2 INSTALL	\$14,000.00	\$140,000.00	\$16,800.00	\$168,000.00
107.977	15.000	EA	HANGER TYPE 3 INSTALL	\$15,000.00	\$225,000.00	\$16,600.00	\$249,000.00
107.978	5.000	EA	HANGER TYPE 4 INSTALL	\$15,000.00	\$75,000.00	\$18,900.00	\$94,500.00
107.981	5.000	EA	REPLACE SINGLE DOOR	\$20,000.00	\$100,000.00	\$24,400.00	\$122,000.00
107.982	5.000	EA	REBUILD SINGLE DOOR	\$10,000.00	\$50,000.00	\$9,573.00	\$47,865.00
107.983	5.000	EA	REBUILD DOUBLE DOOR	\$12,000.00	\$60,000.00	\$12,100.00	\$60,500.00
107.984	5.000	EA	REBUILD I-90 CROSS PASSAGE DOOR	\$15,000.00	\$75,000.00	\$12,500.00	\$62,500.00
107.985	25.000	EA	REBUILD I-93 CROSS PASSAGE DOOR	\$15,000.00	\$375,000.00	\$13,700.00	\$342,500.00
107.991	200.000	EA	STAINLESS STEEL PANEL REMOVE AND RESET	\$10.00	\$2,000.00	\$405.00	\$81,000.00
107.992	100.000	SF	CMU BLOCK WALL REMOVE AND REBUILD (LEAK SEALING)	\$20.00	\$2,000.00	\$84.00	\$8,400.00
107.993	250.000	HR	MISC. METAL ELEC, MECH REMOVE AND RESET	\$95.00	\$23,750.00	\$650.00	\$162,500.00
107.994	300.000	EA	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 1	\$750.00	\$225,000.00	\$1,807.00	\$542,100.00
107.995	150.000	EA	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 2	\$1,600.00	\$240,000.00	\$2,256.00	\$338,400.00
107.996	25.000	EA	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 3	\$6,000.00	\$150,000.00	\$8,345.00	\$208,625.00
107.997	10,000.000	SF	REMOVAL OF SIP FORM WITHIN GIRDER BAY	\$5.00	\$50,000.00	\$21.00	\$210,000.00
107.998	20,000.000	SF	REPAIR OR REPLACEMENT FIREPROOFING	\$225.00	\$4,500,000.00	\$95.00	\$1,900,000.00
107.999	6,250.000	SF	INSTALL RIGID BOARD FIREPROOFING	\$150.00	\$937,500.00	\$100.00	\$625,000.00
108.001	15.000	EA	REMOVE EXISTING GIRDER BAY HATCH	\$335.00	\$5,025.00	\$1,713.00	\$25,695.00
108.002	15.000	EA	FURNISH AND INSTALL NEW GIRDER BAY HATCH	\$1,230.00	\$18,450.00	\$9,267.00	\$139,005.00
108.003	15.000	EA	REHABILITATE EXISTING GIRDER BAY HATCH	\$400.00	\$6,000.00	\$3,037.00	\$45,555.00
109.01	5.000	EA	LEAK PLUG FOR 1-INCH CONDUIT	\$225.00	\$1,125.00	\$10,700.00	\$53,500.00
109.02	5.000	EA	LEAK PLUG FOR 2-INCH CONDUIT	\$280.00	\$1,400.00	\$10,800.00	\$54,000.00
109.025	5.000	EA	LEAK PLUG FOR 2-INCH CONDUIT (MULTI CABLE)	\$405.00	\$2,025.00	\$10,800.00	\$54,000.00
109.03	5.000	EA	LEAK PLUG FOR 3-INCH CONDUIT	\$280.00	\$1,400.00	\$10,900.00	\$54,500.00
109.035	5.000	EA	LEAK PLUG FOR 3-INCH CONDUIT (MULTI CABLE)	\$420.00	\$2,100.00	\$10,900.00	\$54,500.00

Project #: 612603Location: BOSTONContract #: 130548

District : 6

					Office Estimate	J F WHITE COM	ITRACTING CO
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
109.04	5.000	EA	LEAK PLUG FOR 4-INCH CONDUIT	\$450.00	\$2,250.00	\$11,200.00	\$56,000.00
109.045	5.000	EA	LEAK PLUG FOR 4-INCH CONDUIT (MULTI CABLE)	\$560.00	\$2,800.00	\$11,000.00	\$55,000.00
109.05	5.000	EA	LEAK PLUG FOR 5-INCH CONDUIT	\$505.00	\$2,525.00	\$11,200.00	\$56,000.00
109.055	5.000	EA	LEAK PLUG FOR 5-INCH CONDUIT (MULTI CABLE)	\$615.00	\$3,075.00	\$11,200.00	\$56,000.00
120.1	325.000	CY	UNCLASSIFIED EXCAVATION	\$75.00	\$24,375.00	\$84.00	\$27,300.00
131.11	1,000.000	GAL	DEWATERING	\$20.00	\$20,000.00	\$24.00	\$24,000.00
141.1	5.000	CY	TEST PIT FOR EXPLORATION	\$300.00	\$1,500.00	\$1,191.00	\$5,955.00
160.2	100.000	CY	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	\$300.00	\$30,000.00	\$1,110.00	\$111,000.00
180.01	1.000	LS	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00
180.02	100.000	HR	PERSONAL PROTECTION LEVEL C UPGRADE	\$12.00	\$1,200.00	\$46.00	\$4,600.00
180.03	100.000	HR	LICENSED SITE PROFESSIONAL SERVICES	\$150.00	\$15,000.00	\$133.00	\$13,300.00
181.11	52.000	TON	DISPOSAL OF UNREGULATED SOIL	\$55.00	\$2,860.00	\$49.00	\$2,548.00
181.12	52.000	TON	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	\$105.00	\$5,460.00	\$99.00	\$5,148.00
181.13	395.000	TON	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	\$210.00	\$82,950.00	\$156.00	\$61,620.00
181.14	26.000	TON	DISPOSAL OF HAZARDOUS WASTE	\$570.00	\$14,820.00	\$720.00	\$18,720.00
183.1	1,000.000	GAL	TREATMENT OF CONTAMINATED GROUNDWATER	\$15.00	\$15,000.00	\$23.00	\$23,000.00
183.2	500.000	LB	DISPOSAL OF GRANULAR ACTIVATED CARBON	\$8.00	\$4,000.00	\$17.00	\$8,500.00
221.11	5.000	EA	FRAME AND COVER - CIRCULAR (TYPE 1)	\$2,200.00	\$11,000.00	\$8,023.00	\$40,115.00
221.111	15.000	EA	REMOVE AND PLATE EXISTING ROADWAY STRUCTURE	\$3,250.00	\$48,750.00	\$520.00	\$7,800.00
221.12	60.000	EA	FRAME AND COVER - CIRCULAR (TYPE 2)	\$2,600.00	\$156,000.00	\$8,991.00	\$539,460.00
221.13	10.000	EA	FRAME AND COVER - CIRCULAR (TYPE 3)	\$3,200.00	\$32,000.00	\$9,596.00	\$95,960.00
221.14	5.000	EA	FRAME AND COVER - RECTANGULAR (TYPE 1)	\$2,350.00	\$11,750.00	\$8,249.00	\$41,245.00
221.15	10.000	EA	FRAME AND COVER - RECTANGULAR (TYPE 2)	\$3,000.00	\$30,000.00	\$12,500.00	\$125,000.00
221.16	20.000	EA	FRAME AND COVER - RECTANGULAR (TYPE 3)	\$4,000.00	\$80,000.00	\$17,500.00	\$350,000.00
222.01	100.000	FT	INSTALL ROADWAY JOINT UNDERDRAIN ASSEMBLY - TYPE A	\$2,800.00	\$280,000.00	\$1,546.00	\$154,600.00

Project #: 612603Location: BOSTONContract #: 130548

District : 6

					Office Estimate	J F WHITE	CONTRACTING CO
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
222.1	5.000	EA	FRAME AND GRATE - MASSDOT CASCADE TYPE	\$6,050.00	\$30,250.00	\$6,843.00	\$34,215.00
222.111	6.000	EA	CATCH BASIN FRAME AND COVER	\$1,500.00	\$9,000.00	\$2,795.00	\$16,770.00
222.112	6.000	EA	CATCH BASIN FRAME AND COVER - INSTALL	\$2,500.00	\$15,000.00	\$5,588.00	\$33,528.00
223.21	250.000	EA	TUNNEL DRAIN INLET GRATE	\$400.00	\$100,000.00	\$668.00	\$167,000.00
223.22	50.000	EA	TUNNEL DRAIN INLET GRATE AND FRAME	\$800.00	\$40,000.00	\$2,916.00	\$145,800.00
223.23	10.000	EA	INSTALL TUNNEL DRAIN INLET GRATE	\$400.00	\$4,000.00	\$337.00	\$3,370.00
223.24	50.000	EA	INSTALL TUNNEL DRAIN INLET GRATE AND FRAME	\$3,500.00	\$175,000.00	\$6,472.00	\$323,600.00
227.3	10.000	CY	REMOVAL OF DRAINAGE STRUCTURE SEDIMENT	\$140.00	\$1,400.00	\$900.00	\$9,000.00
227.31	100.000	FT	REMOVAL OF DRAINAGE PIPE SEDIMENT	\$20.00	\$2,000.00	\$54.00	\$5,400.00
227.32	500.000	FT	BARRIER DRAINAGE TROUGH CLEANING	\$35.00	\$17,500.00	\$26.00	\$13,000.00
227.33	5.000	EA	CLEAN OUT DRAIN (4-INCH AND SMALLER)	\$1,345.00	\$6,725.00	\$774.00	\$3,870.00
227.34	5.000	EA	CLEAN OUT DRAIN (LARGER THAN 4-INCH)	\$450.00	\$2,250.00	\$779.00	\$3,895.00
227.35	5.000	EA	CLEAN OUT DRAIN (SUPPLY PLENUM)	\$1,010.00	\$5,050.00	\$774.00	\$3,870.00
227.36	20.000	FT	CLEAN OUT DRAIN PIPE (4-INCH AND SMALLER)	\$45.00	\$900.00	\$38.00	\$760.00
227.37	20.000	FT	CLEAN OUT DRAIN PIPE (LARGER THAN 4-INCH)	\$10.00	\$200.00	\$48.00	\$960.00
227.38	20.000	FT	CLEAN OUT DRAIN PIPE (SUPPLY PLENUM)	\$20.00	\$400.00	\$24.00	\$480.00
227.39	10.000	EA	BARRIER DRAIN REPAIR	\$3,585.00	\$35,850.00	\$2,827.00	\$28,270.00
227.41	30.000	HR	DRAIN INSPECTION CREW HOUR	\$1,000.00	\$30,000.00	\$2,623.00	\$78,690.00
443.1	1.000	LS	CONSTRUCTION DUST CONTROL PLAN	\$10,000.00	\$10,000.00	\$65,000.00	\$65,000.00
451.	50.000	TON	HMA FOR PATCHING	\$240.00	\$12,000.00	\$912.00	\$45,600.00
452.	13.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$9.50	\$123.50	\$35.00	\$455.00
453.	72.000	FT	HMA JOINT ADHESIVE	\$1.00	\$72.00	\$63.00	\$4,536.00
472.	50.000	TON	TEMPORARY ASPHALT PATCHING	\$225.00	\$11,250.00	\$551.00	\$27,550.00
476.4	1,500.000	SF	WEARING SURFACE REPAIR - TECHCRETE REPAIR	\$75.00	\$112,500.00	\$127.00	\$190,500.00
747.	1.000	LS	EQUIPMENT FOR ENGINEERS FIELD OFFICE	\$30,000.00	\$30,000.00	\$645,700.00	\$645,700.00
748.	1.000	LS	MOBILIZATION	\$500,000.00	\$500,000.00	\$1,560,000.00	\$1,560,000.00
748.5	1.000	LS	CONSTRUCTION NOISE CONTROL	\$15,000.00	\$15,000.00	\$125,000.00	\$125,000.00
813.61	50.000	EA	EQUIPMENT GROUNDING	\$1,200.00	\$60,000.00	\$1,581.00	\$79,050.00

Project #: 612603Location: BOSTONContract #: 130548

District : 6

					Office Estimate	J F WHITE	CONTRACTING CO
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
813.62	25.000	EA	GROUND BUS REPAIR	\$500.00	\$12,500.00	\$10,600.00	\$265,000.00
813.63	25.000	EA	GROUND BUS REPLACEMENT	\$1,500.00	\$37,500.00	\$4,008.00	\$100,200.00
819.833	100.000	FT	MICROLOOP ANTENNA INSTALLED IN ROADWAY	\$100.00	\$10,000.00	\$66.00	\$6,600.00
851.1	25.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$160.00	\$4,000.00	\$1,348.00	\$33,700.00
852.	400.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$12.50	\$5,000.00	\$45.00	\$18,000.00
853.1	10.000	EA	PORTABLE BREAKAWAY BARRICADE TYPE III	\$130.00	\$1,300.00	\$209.00	\$2,090.00
853.403	50.000	DAY	TRUCK MOUNTED ATTENUATOR	\$275.00	\$13,750.00	\$495.00	\$24,750.00
854.6	50.000	DAY	TEMPORARY PORTABLE RUMBLE STRIP	\$55.00	\$2,750.00	\$200.00	\$10,000.00
856.	50.000	DAY	ARROW BOARD	\$20.00	\$1,000.00	\$17.00	\$850.00
856.12	50.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$30.00	\$1,500.00	\$34.00	\$1,700.00
859.	50.000	DAY	REFLECTORIZED DRUM	\$1.00	\$50.00	\$0.70	\$35.00
859.1	50.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$5.25	\$262.50	\$51.00	\$2,550.00
910.1	1,000.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$3.75	\$3,750.00	\$3.00	\$3,000.00
960.1	4,000.000	LB	STRUCTURAL STEEL - COATED STEEL	\$35.00	\$140,000.00	\$59.00	\$236,000.00
960.13	4,280.000	LB	STAINLESS STEEL	\$50.00	\$214,000.00	\$76.00	\$325,280.00
961.3	225.000	FT	CLEAN AND PAINT STRUCTURAL STEEL	\$8,000.00	\$1,800,000.00	\$1,327.00	\$298,575.00
961.4	50.000	EA	CLEAN AND PAINT SOLDIER PILES	\$17,500.00	\$875,000.00	\$4,647.00	\$232,350.00
961.5	200.000	FT	CLEAN AND PRIME CALLAHAN CEILING STRINGER	\$600.00	\$120,000.00	\$557.00	\$111,400.00
961.6	200.000	FT	FINISH PAINT CALLAHAN CEILING STRINGER	\$150.00	\$30,000.00	\$78.00	\$15,600.00
965.21	140.000	SY	MEMBRANE WATERPROOFING SPRAY APPLIED	\$67.50	\$9,450.00	\$333.00	\$46,620.00
998.11	10.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 1)	\$170,000.00	\$1,700,000.00	\$220,000.00	\$2,200,000.00
998.12	5.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 2)	\$200,000.00	\$1,000,000.00	\$334,000.00	\$1,670,000.00
998.13	6.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 3)	\$50,000.00	\$300,000.00	\$61,900.00	\$371,400.00
998.14	1.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 4)	\$200,000.00	\$200,000.00	\$189,200.00	\$189,200.00
998.15	2.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 5)	\$180,000.00	\$360,000.00	\$250,000.00	\$500,000.00
998.16	2.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 6)	\$5,000.00	\$10,000.00	\$3,584.00	\$7,168.00
998.17	26.000	EA	TWT CONDUIT	\$3,500.00	\$91,000.00	\$304.00	\$7,904.00

Project #: 612603Location: BOSTONContract #: 130548

District : 6

					Office Estimate	J F WHITE	CONTRACTING CO
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
998.18	5.000	EA	TWT FORCEMAIN	\$2,500.00	\$12,500.00	\$1,931.00	\$9,655.00
998.19	17.000	EA	TWT PIPE REMOVAL	\$1,000.00	\$17,000.00	\$989.00	\$16,813.00
998.2	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM CLEANING AND SURVEY	\$325,000.00	\$325,000.00	\$1,353,000.00	\$1,353,000.00
998.221	185.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (RECTANGLE)	\$11,000.00	\$2,035,000.00	\$11,600.00	\$2,146,000.00
998.222	10.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (TRAPEZOID)	\$12,000.00	\$120,000.00	\$11,600.00	\$116,000.00
998.223	35.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (WITH EXHAUST OPENING)	\$16,000.00	\$560,000.00	\$11,600.00	\$406,000.00
998.224	3.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (ACCESS HATCH)	\$13,000.00	\$39,000.00	\$11,600.00	\$34,800.00
998.225	20.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING COVE	\$1,000.00	\$20,000.00	\$73.00	\$1,460.00
998.226	40.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING DUCT CLOSURE	\$1,000.00	\$40,000.00	\$63.00	\$2,520.00
998.227	20.000	EA	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING COVE	\$500.00	\$10,000.00	\$2,540.00	\$50,800.00
998.228	40.000	EA	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING DUCT CLOSURE	\$1,000.00	\$40,000.00	\$1,502.00	\$60,080.00
998.23	233.000	EA	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING PANEL	\$10,000.00	\$2,330,000.00	\$10,200.00	\$2,376,600.00
998.231	500.000	SF	CALLAHAN TUNNEL CEILING PANEL REPAIR - TYPE A	\$20.00	\$10,000.00	\$163.00	\$81,500.00
998.232	500.000	SF	CALLAHAN TUNNEL CEILING PANEL REPAIR - TYPE B	\$600.00	\$300,000.00	\$730.00	\$365,000.00
998.233	10.000	EA	CALLAHAN TUNNEL CEILING PANEL FLUE RETROFIT	\$5,000.00	\$50,000.00	\$17,900.00	\$179,000.00
998.234	3.000	EA	CALLAHAN TUNNEL CEILING PANEL ACCESS HATCH	\$10,000.00	\$30,000.00	\$9,556.00	\$28,668.00
998.24	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM BULKHEAD REHABILITATION	\$75,000.00	\$75,000.00	\$48,500.00	\$48,500.00
998.25	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM BALANCING	\$225,000.00	\$225,000.00	\$174,200.00	\$174,200.00
998.31	1.000	LS	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REHABILITATION WEST DUCT	\$575,000.00	\$575,000.00	\$1,375,000.00	\$1,375,000.00

 Project #
 : 612603

 Location
 : BOSTON

 Bids Open Date : 19 Aug 2025

 Contract # : 130548

District : 6

Description: BOSTON-TUNNEL PRESERVATION WITHIN MHS TUNNELS

					Office Estimate	J F WHITE CONTRACTING CO	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
998.32	1.000	LS	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REHABILITATION EAST DUCT	\$575,000.00	\$575,000.00	\$716,400.00	\$716,400.00
998.33	1,200.000	SF	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REPAIRS	\$200.00	\$240,000.00	\$339.00	\$406,800.00
998.4	100.000	CY	REMOVAL OF SUPPLY PLENUM DEBRIS	\$375.00	\$37,500.00	\$969.00	\$96,900.00
998.5	5.000	EA	I-90 SUPPLY PLENUM PRECAST SIP FORM REMOVAL	\$30,000.00	\$150,000.00	\$69,400.00	\$347,000.00
998.61	3,481.000	LF	REPLACEMENT COVER FOR STANDPIPE TRENCH	\$275.00	\$957,275.00	\$1,265.00	\$4,403,465.00
998.62	4.000	EA	EGRESS RAMP CONSTRUCTION	\$25,000.00	\$100,000.00	\$10,400.00	\$41,600.00
998.63	32.000	EA	PULLBOX WATERPROOFING	\$2,000.00	\$64,000.00	\$2,809.00	\$89,888.00
998.64	10.000	EA	STANDPIPE TRENCH DRAIN	\$2,500.00	\$25,000.00	\$635.00	\$6,350.00
998.71	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE	\$350,000.00	\$350,000.00	\$155,800.00	\$155,800.00
998.72	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE - ELECTRICAL/SCADA	\$150,000.00	\$150,000.00	\$653,200.00	\$653,200.00
998.73	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE - PLUMBING	\$150,000.00	\$150,000.00	\$208,100.00	\$208,100.00
998.81	6.000	EA	SETTLING TANK CLEANING INSPECTION AND LINING	\$100,000.00	\$600,000.00	\$83,500.00	\$501,000.00
998.82	3.000	EA	PUMP STATION SLUICE GATE OPERATOR REPAIR	\$14,000.00	\$42,000.00	\$95,600.00	\$286,800.00
998.821	1.000	EA	PUMP STATION SLUICE GATE REPAIR TYPE A	\$8,000.00	\$8,000.00	\$97,900.00	\$97,900.00
998.822	3.000	EA	PUMP STATION SLUICE GATE REPAIR TYPE B	\$25,000.00	\$75,000.00	\$133,500.00	\$400,500.00
998.83	2.000	EA	PUMP STATION WEIR VALVE REPAIR	\$8,000.00	\$16,000.00	\$29,100.00	\$58,200.00
998.91	1.000	LS	PARCEL 22 PHASE 1	\$587,500.00	\$587,500.00	\$558,900.00	\$558,900.00
998.92	1.000	LS	PARCEL 22 PHASE 2	\$392,600.00	\$392,600.00	\$31,900.00	\$31,900.00
				Total :	\$41,871,668.00	Total :	\$52,182,001.00

CMS105 - Report Date: 8/20/2025 7:30 AM Page 7 of 14

 Project #
 : 612603

 Location
 : BOSTON

 Bids Open Date : 19 Aug 2025

 Contract # : 130548

District : 6

Description: BOSTON-TUNNEL PRESERVATION WITHIN MHS TUNNELS

				SPS NEV	W ENGLAND INC		
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
100.1	7,500.000	HR	BASE LABOR RATE	\$285.00	\$2,137,500.00		
100.11	1,900.000	HR	INSPECTION OF LEAK SEALING LOCATIONS	\$200.00	\$380,000.00		
107.831	2.000	EA	WALL PANEL REMOVED AND RESET (LEAK SEALING)	\$8,500.00	\$17,000.00		
107.833	600.000	SF	WALL PANEL REMOVED FURNISHED AND INSTALLED	\$680.00	\$408,000.00		
107.834	1,000.000	EA	TILE 8X8	\$24.00	\$24,000.00		
107.835	300.000	SF	TILE 2X2	\$55.00	\$16,500.00		
107.836	6,000.000	EA	INSTALL TILE 8X8	\$48.51	\$291,060.00		
107.837	300.000	SF	INSTALL TILE 2X2	\$76.00	\$22,800.00		
107.855	1,600.000	FT	PRESSURE INJECTION OF CRACKS	\$65.00	\$104,000.00		
107.874	160.000	FT	MISCELLANEOUS JOINT REPAIR - BASE SLAB	\$48.00	\$7,680.00		
107.881	175.000	HR	LEAK SEALING - TYPE I	\$700.00	\$122,500.00		
107.882	175.000	HR	LEAK SEALING - TYPE II	\$750.00	\$131,250.00		
107.883	175.000	HR	LEAK SEALING - TYPE III	\$800.00	\$140,000.00		
107.884	2,800.000	HR	LEAK SEALING TYPE - IV	\$2,100.00	\$5,880,000.00		
107.885	175.000	HR	LEAK SEALING - TYPE V	\$1,050.00	\$183,750.00		
107.892	1,000.000	SF	WEARING SURFACE REPAIR	\$135.00	\$135,000.00		
107.893	250.000	SF	CONCRETE AND SLURRY WALL REPAIR - TYPE I	\$100.00	\$25,000.00		
107.894	350.000	CF	CONCRETE AND SLURRY WALL REPAIR - TYPE II	\$250.00	\$87,500.00		
107.895	500.000	CF	CONCRETE AND SLURRY WALL REPAIR - TYPE III	\$275.00	\$137,500.00		
107.896	25.000	CY	CONCRETE AND SLURRY WALL REPAIR - TYPE IV	\$1,000.00	\$25,000.00		
107.897	50.000	CY	OVERHEAD CONCRETE REPAIR	\$69,750.00	\$3,487,500.00		
107.898	1,000.000	SF	REMOVAL OF DETERIORATED CONCRETE	\$75.00	\$75,000.00		
107.971	10.000	EA	HANDRAIL REMOVE AND RESET	\$6,000.00	\$60,000.00		
107.972	2.000	EA	CALLAHAN PORTAL PUMP STATION STAIR REPLACEMENT	\$85,650.00	\$171,300.00		
107.973	25.000	EA	CALLAHAN TUNNEL CEILING STRINGER TYPE 1 REPLACEMENT	\$17,500.00	\$437,500.00		

CMS105 - Report Date: 8/20/2025 7:30 AM Page 8 of 14

Project # : 612603

Location : BOSTON

Bids Open Date: 19 Aug 2025 Contract #: 130548

District : 6

				SPS NE	W ENGLAND INC		
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
107.974	5.000	EA	CALLAHAN TUNNEL CEILING STRINGER TYPE 2 REPLACEMENT	\$22,500.00	\$112,500.00		
107.975	10.000	EA	HANGER TYPE 1 INSTALL	\$12,500.00	\$125,000.00		
107.976	10.000	EA	HANGER TYPE 2 INSTALL	\$15,500.00	\$155,000.00		
107.977	15.000	EA	HANGER TYPE 3 INSTALL	\$15,575.00	\$233,625.00		
107.978	5.000	EA	HANGER TYPE 4 INSTALL	\$17,250.00	\$86,250.00		
107.981	5.000	EA	REPLACE SINGLE DOOR	\$25,000.00	\$125,000.00		
107.982	5.000	EA	REBUILD SINGLE DOOR	\$3,500.00	\$17,500.00		
107.983	5.000	EA	REBUILD DOUBLE DOOR	\$4,000.00	\$20,000.00		
107.984	5.000	EA	REBUILD I-90 CROSS PASSAGE DOOR	\$5,500.00	\$27,500.00		
107.985	25.000	EA	REBUILD I-93 CROSS PASSAGE DOOR	\$5,500.00	\$137,500.00		
107.991	200.000	EA	STAINLESS STEEL PANEL REMOVE AND RESET	\$50.00	\$10,000.00		
107.992	100.000	SF	CMU BLOCK WALL REMOVE AND REBUILD (LEAK SEALING)	\$60.00	\$6,000.00		
107.993	250.000	HR	MISC. METAL ELEC, MECH REMOVE AND RESET	\$150.00	\$37,500.00		
107.994	300.000	EA	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 1	\$1,850.00	\$555,000.00		
107.995	150.000	EA	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 2	\$2,875.00	\$431,250.00		
107.996	25.000	EA	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 3	\$7,200.00	\$180,000.00		
107.997	10,000.000	SF	REMOVAL OF SIP FORM WITHIN GIRDER BAY	\$42.00	\$420,000.00		
107.998	20,000.000	SF	REPAIR OR REPLACEMENT FIREPROOFING	\$195.00	\$3,900,000.00		
107.999	6,250.000	SF	INSTALL RIGID BOARD FIREPROOFING	\$192.00	\$1,200,000.00		
108.001	15.000	EA	REMOVE EXISTING GIRDER BAY HATCH	\$2,500.00	\$37,500.00		
108.002	15.000	EA	FURNISH AND INSTALL NEW GIRDER BAY HATCH	\$10,500.00	\$157,500.00		
108.003	15.000	EA	REHABILITATE EXISTING GIRDER BAY HATCH	\$1,250.00	\$18,750.00		
109.01	5.000	EA	LEAK PLUG FOR 1-INCH CONDUIT	\$395.00	\$1,975.00		
109.02	5.000	EA	LEAK PLUG FOR 2-INCH CONDUIT	\$405.00	\$2,025.00		
109.025	5.000	EA	LEAK PLUG FOR 2-INCH CONDUIT (MULTI CABLE)	\$410.00	\$2,050.00		
109.03	5.000	EA	LEAK PLUG FOR 3-INCH CONDUIT	\$425.00	\$2,125.00		
109.035	5.000	EA	LEAK PLUG FOR 3-INCH CONDUIT (MULTI CABLE)	\$440.00	\$2,200.00		

Project #: 612603Location: BOSTONContract #: 130548

District : 6

Description: BOSTON-TUNNEL PRESERVATION WITHIN MHS TUNNELS

				SPS NEV	W ENGLAND INC		
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
109.04	5.000	EA	LEAK PLUG FOR 4-INCH CONDUIT	\$450.00	\$2,250.00		
109.045	5.000	EA	LEAK PLUG FOR 4-INCH CONDUIT (MULTI CABLE)	\$455.00	\$2,275.00		
109.05	5.000	EA	LEAK PLUG FOR 5-INCH CONDUIT	\$465.00	\$2,325.00		
109.055	5.000	EA	LEAK PLUG FOR 5-INCH CONDUIT (MULTI CABLE)	\$495.00	\$2,475.00		
120.1	325.000	CY	UNCLASSIFIED EXCAVATION	\$35.00	\$11,375.00		
131.11	1,000.000	GAL	DEWATERING	\$21.00	\$21,000.00		
141.1	5.000	CY	TEST PIT FOR EXPLORATION	\$850.00	\$4,250.00		
160.2	100.000	CY	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	\$403.00	\$40,300.00		
180.01	1.000	LS	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	\$15,550.00	\$15,550.00		
180.02	100.000	HR	PERSONAL PROTECTION LEVEL C UPGRADE	\$25.00	\$2,500.00		
180.03	100.000	HR	LICENSED SITE PROFESSIONAL SERVICES	\$150.00	\$15,000.00		
181.11	52.000	TON	DISPOSAL OF UNREGULATED SOIL	\$98.00	\$5,096.00		
181.12	52.000	TON	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	\$100.00	\$5,200.00		
181.13	395.000	TON	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	\$128.00	\$50,560.00		
181.14	26.000	TON	DISPOSAL OF HAZARDOUS WASTE	\$610.00	\$15,860.00		
183.1	1,000.000	GAL	TREATMENT OF CONTAMINATED GROUNDWATER	\$40.00	\$40,000.00		
183.2	500.000	LB	DISPOSAL OF GRANULAR ACTIVATED CARBON	\$35.00	\$17,500.00		
221.11	5.000	EA	FRAME AND COVER - CIRCULAR (TYPE 1)	\$5,950.00	\$29,750.00		
221.111	15.000	EA	REMOVE AND PLATE EXISTING ROADWAY STRUCTURE	\$4,000.00	\$60,000.00		
221.12	60.000	EA	FRAME AND COVER - CIRCULAR (TYPE 2)	\$6,000.00	\$360,000.00		
221.13	10.000	EA	FRAME AND COVER - CIRCULAR (TYPE 3)	\$6,250.00	\$62,500.00		
221.14	5.000	EA	FRAME AND COVER - RECTANGULAR (TYPE 1)	\$5,000.00	\$25,000.00		
221.15	10.000	EA	FRAME AND COVER - RECTANGULAR (TYPE 2)	\$7,500.00	\$75,000.00		
221.16	20.000	EA	FRAME AND COVER - RECTANGULAR (TYPE 3)	\$11,000.00	\$220,000.00		
222.01	100.000	FT	INSTALL ROADWAY JOINT UNDERDRAIN ASSEMBLY - TYPE A	\$1,325.00	\$132,500.00		

CMS105 - Report Date: 8/20/2025 7:30 AM

Project # : 612603

Location : BOSTON

Bids Open Date: 19 Aug 2025 Contract #: 130548

District : 6

				SPS NE	W ENGLAND INC		
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
222.1	5.000	EA	FRAME AND GRATE - MASSDOT CASCADE TYPE	\$3,500.00	\$17,500.00		
222.111	6.000	EA	CATCH BASIN FRAME AND COVER	\$1,500.00	\$9,000.00		
222.112	6.000	EA	CATCH BASIN FRAME AND COVER - INSTALL	\$5,000.00	\$30,000.00		
223.21	250.000	EA	TUNNEL DRAIN INLET GRATE	\$450.00	\$112,500.00		
223.22	50.000	EA	TUNNEL DRAIN INLET GRATE AND FRAME	\$2,100.00	\$105,000.00		
223.23	10.000	EA	INSTALL TUNNEL DRAIN INLET GRATE	\$1,275.00	\$12,750.00		
223.24	50.000	EA	INSTALL TUNNEL DRAIN INLET GRATE AND FRAME	\$3,275.00	\$163,750.00		
227.3	10.000	CY	REMOVAL OF DRAINAGE STRUCTURE SEDIMENT	\$100.00	\$1,000.00		
227.31	100.000	FT	REMOVAL OF DRAINAGE PIPE SEDIMENT	\$32.00	\$3,200.00		
227.32	500.000	FT	BARRIER DRAINAGE TROUGH CLEANING	\$20.00	\$10,000.00		
227.33	5.000	EA	CLEAN OUT DRAIN (4-INCH AND SMALLER)	\$438.00	\$2,190.00		
227.34	5.000	EA	CLEAN OUT DRAIN (LARGER THAN 4-INCH)	\$440.00	\$2,200.00		
227.35	5.000	EA	CLEAN OUT DRAIN (SUPPLY PLENUM)	\$575.00	\$2,875.00		
227.36	20.000	FT	CLEAN OUT DRAIN PIPE (4-INCH AND SMALLER)	\$12.00	\$240.00		
227.37	20.000	FT	CLEAN OUT DRAIN PIPE (LARGER THAN 4-INCH)	\$27.00	\$540.00		
227.38	20.000	FT	CLEAN OUT DRAIN PIPE (SUPPLY PLENUM)	\$12.00	\$240.00		
227.39	10.000	EA	BARRIER DRAIN REPAIR	\$2,375.00	\$23,750.00		
227.41	30.000	HR	DRAIN INSPECTION CREW HOUR	\$560.00	\$16,800.00		
443.1	1.000	LS	CONSTRUCTION DUST CONTROL PLAN	\$5,100.00	\$5,100.00		
451.	50.000	TON	HMA FOR PATCHING	\$1,250.00	\$62,500.00		
452.	13.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$55.00	\$715.00		
453.	72.000	FT	HMA JOINT ADHESIVE	\$4.50	\$324.00		
472.	50.000	TON	TEMPORARY ASPHALT PATCHING	\$915.00	\$45,750.00		
476.4	1,500.000	SF	WEARING SURFACE REPAIR - TECHCRETE REPAIR	\$52.00	\$78,000.00		
747.	1.000	LS	EQUIPMENT FOR ENGINEERS FIELD OFFICE	\$18,500.00	\$18,500.00		
748.	1.000	LS	MOBILIZATION	\$1,450,250.00	\$1,450,250.00		
748.5	1.000	LS	CONSTRUCTION NOISE CONTROL	\$18,750.00	\$18,750.00		
813.61	50.000	EA	EQUIPMENT GROUNDING	\$595.00	\$29,750.00		

Project #: 612603Location: BOSTONContract #: 130548

District : 6

Description: BOSTON-TUNNEL PRESERVATION WITHIN MHS TUNNELS

			SPS NEW ENGLAND INC						
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount		
813.62	25.000	EA	GROUND BUS REPAIR	\$1,150.00	\$28,750.00				
813.63	25.000	EA	GROUND BUS REPLACEMENT	\$1,250.00	\$31,250.00				
819.833	100.000	FT	MICROLOOP ANTENNA INSTALLED IN ROADWAY	\$145.00	\$14,500.00				
851.1	25.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$500.00	\$12,500.00				
852.	400.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$22.00	\$8,800.00				
853.1	10.000	EA	PORTABLE BREAKAWAY BARRICADE TYPE III	\$155.00	\$1,550.00				
853.403	50.000	DAY	TRUCK MOUNTED ATTENUATOR	\$1,500.00	\$75,000.00				
854.6	50.000	DAY	TEMPORARY PORTABLE RUMBLE STRIP	\$20.00	\$1,000.00				
856.	50.000	DAY	ARROW BOARD	\$10.00	\$500.00				
856.12	50.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$28.00	\$1,400.00				
859.	50.000	DAY	REFLECTORIZED DRUM	\$0.25	\$12.50				
859.1	50.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$6.00	\$300.00				
910.1	1,000.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$2.50	\$2,500.00				
960.1	4,000.000	LB	STRUCTURAL STEEL - COATED STEEL	\$66.00	\$264,000.00				
960.13	4,280.000	LB	STAINLESS STEEL	\$88.00	\$376,640.00				
961.3	225.000	FT	CLEAN AND PAINT STRUCTURAL STEEL	\$5,300.00	\$1,192,500.00				
961.4	50.000	EA	CLEAN AND PAINT SOLDIER PILES	\$9,500.00	\$475,000.00				
961.5	200.000	FT	CLEAN AND PRIME CALLAHAN CEILING STRINGER	\$1,450.00	\$290,000.00				
961.6	200.000	FT	FINISH PAINT CALLAHAN CEILING STRINGER	\$725.00	\$145,000.00				
965.21	140.000	SY	MEMBRANE WATERPROOFING SPRAY APPLIED	\$175.00	\$24,500.00				
998.11	10.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 1)	\$275,000.00	\$2,750,000.00				
998.12	5.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 2)	\$285,000.00	\$1,425,000.00				
998.13	6.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 3)	\$165,000.00	\$990,000.00				
998.14	1.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 4)	\$283,000.00	\$283,000.00				
998.15	2.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 5)	\$295,000.00	\$590,000.00				
998.16	2.000	EA	TWT STANDPIPE JOINT REPAIR (TYPE 6)	\$75,000.00	\$150,000.00				
998.17	26.000	EA	TWT CONDUIT	\$11,500.00	\$299,000.00				

CMS105 - Report Date: 8/20/2025 7:30 AM

Project # : 612603 Location : BOSTON Bids Open Date: 19 Aug 2025 Contract #: 130548

District : 6

				SPS NE	W ENGLAND INC		
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
998.18	5.000	EA	TWT FORCEMAIN	\$12,500.00	\$62,500.00		
998.19	17.000	EA	TWT PIPE REMOVAL	\$1,275.00	\$21,675.00		
998.2	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM CLEANING AND SURVEY	\$755,896.00	\$755,896.00		
998.221	185.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (RECTANGLE)	\$11,500.00	\$2,127,500.00		
998.222	10.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (TRAPEZOID)	\$15,000.00	\$150,000.00		
998.223	35.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (WITH EXHAUST OPENING)	\$15,000.00	\$525,000.00		
998.224	3.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (ACCESS HATCH)	\$15,000.00	\$45,000.00		
998.225	20.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING COVE	\$2,100.00	\$42,000.00		
998.226	40.000	EA	REPLACEMENT CALLAHAN TUNNEL CEILING DUCT CLOSURE	\$3,200.00	\$128,000.00		
998.227	20.000	EA	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING COVE	\$1,350.00	\$27,000.00		
998.228	40.000	EA	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING DUCT CLOSURE	\$2,600.00	\$104,000.00		
998.23	233.000	EA	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING PANEL	\$7,500.00	\$1,747,500.00		
998.231	500.000	SF	CALLAHAN TUNNEL CEILING PANEL REPAIR - TYPE A	\$20.00	\$10,000.00		
998.232	500.000	SF	CALLAHAN TUNNEL CEILING PANEL REPAIR - TYPE B	\$250.00	\$125,000.00		
998.233	10.000	EA	CALLAHAN TUNNEL CEILING PANEL FLUE RETROFIT	\$14,500.00	\$145,000.00		
998.234	3.000	EA	CALLAHAN TUNNEL CEILING PANEL ACCESS HATCH	\$11,500.00	\$34,500.00		
998.24	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM BULKHEAD REHABILITATION	\$128,550.00	\$128,550.00		
998.25	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM BALANCING	\$285,500.00	\$285,500.00		
998.31	1.000	LS	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REHABILITATION WEST DUCT	\$1,455,855.00	\$1,455,855.00		

Project # : 612603 Location : BOSTON Bids Open Date: 19 Aug 2025 Contract #: 130548

District : 6

Description: BOSTON-TUNNEL PRESERVATION WITHIN MHS TUNNELS

				SPS NE	W ENGLAND INC		
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
998.32	1.000	LS	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REHABILITATION EAST DUCT	\$1,350,450.00	\$1,350,450.00		
998.33	1,200.000	SF	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REPAIRS	\$550.00	\$660,000.00		
998.4	100.000	CY	REMOVAL OF SUPPLY PLENUM DEBRIS	\$400.33	\$40,033.00		
998.5	5.000	EA	I-90 SUPPLY PLENUM PRECAST SIP FORM REMOVAL	\$32,150.00	\$160,750.00		
998.61	3,481.000	LF	REPLACEMENT COVER FOR STANDPIPE TRENCH	\$1,625.00	\$5,656,625.00		
998.62	4.000	EA	EGRESS RAMP CONSTRUCTION	\$78,650.00	\$314,600.00		
998.63	32.000	EA	PULLBOX WATERPROOFING	\$19,550.00	\$625,600.00		
998.64	10.000	EA	STANDPIPE TRENCH DRAIN	\$4,500.00	\$45,000.00		
998.71	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE	\$250,250.00	\$250,250.00		
998.72	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE - ELECTRICAL/SCADA	\$580,210.00	\$580,210.00		
998.73	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE - PLUMBING	\$195,600.00	\$195,600.00		
998.81	6.000	EA	SETTLING TANK CLEANING INSPECTION AND LINING	\$125,500.00	\$753,000.00		
998.82	3.000	EA	PUMP STATION SLUICE GATE OPERATOR REPAIR	\$95,500.00	\$286,500.00		
998.821	1.000	EA	PUMP STATION SLUICE GATE REPAIR TYPE A	\$135,650.00	\$135,650.00		
998.822	3.000	EA	PUMP STATION SLUICE GATE REPAIR TYPE B	\$168,000.00	\$504,000.00		
998.83	2.000	EA	PUMP STATION WEIR VALVE REPAIR	\$65,850.00	\$131,700.00		
998.91	1.000	LS	PARCEL 22 PHASE 1	\$550,750.00	\$550,750.00		
998.92	1.000	LS	PARCEL 22 PHASE 2	\$787,875.00	\$787,875.00		
				Total :	\$56,334,301.50		

CMS105 - Report Date: 8/20/2025 7:30 AM Page 14 of 14



Eligible Bidders Posting Opened Contracts



Bids Unit

Tunnel Preservation within MHS Tunnels

Contract #: 130548

Project #: 612603 **Bid Opening Date**: 8/19/2025

City: BOSTON Office Estimate: \$41,871,668.00

District: 6 No. of Addendums: 9

Class Of Work: Bridge - Construction DBE % (goal): 14.00 %

MWBE % (goal): SDVOB % (goal):

Contractor(s)	JV	Approval Date	Official / Waiver	Bid Amount
J F WHITE CONTRACTING CO	No	07/10/2025	Official	\$52,182,001.00
MAS BUILDING & BRIDGE INC	No	07/02/2025	Waiver	No Bid
MCCOURT CONSTRUCTION CO INC	No	06/25/2025	Official	No Bid
R ZOPPO CORP	No	06/20/2025	Official	No Bid
RAILROAD CONSTRUCTION COMPANY INC	No	06/09/2025	Official	No Bid
SPS NEW ENGLAND INC	No	06/06/2025	Official	\$56,334,301.50

Total # of Bidders: 6

DOCUMENT B00420

PROPOSAL

BOSTON

For: Tunnel Preservation within MHS Tunnels

COMMONWEALTH OF MASSACHUSETTS

LOCATION

The work referred to herein is in the City of **BOSTON** in Suffolk County, in the Commonwealth of Massachusetts, and is shown by the locus map (Document 00331) in the Proposal Pamphlet, the work locations extend as follows:

<u>I-93</u>

Beginning – Station 17+28.00 +/-	I-93 NB
Ending –Station 210+28.88 +/-	I-93 NB

Limit of Work – Station 19+60 +/- Route 1A SB

Limit of Work – Station 48+42 +/- Ramp S/N

I-90

Limit of Work – Station 16+63 +/- I-90 WB

Limit of Work – Station 172+84 +/- I-90 WB

Callahan Tunnel

Limit of Work – Station 63+73.50 +/- Callahan Tunnel

The contract prices shall include the furnishing of all materials (except as otherwise herein specified), the performing of all the labor requisite or proper, the providing of all necessary machinery, tools, apparatus and other means of construction, the doing of all the abovementioned work in the manner set forth, described and shown in the specifications and on the drawings for the work, and in the form of contract, and the completion thereof within **1095 CALENDAR DAYS** upon receipt of a Notice to Proceed.

The Work of this project is described by the following Items and quantities.





Project # : 612603

 Contractor
 : J F WHITE CONTRACTING CO

 District
 : 6

 Project Manager
 HEMA P BHATT

Location : BOSTON

em #	Quantity	Unit	Item Description	Unit Price	Total
100.1	7,500.000	HR	BASE LABOR RATE	\$345.00	\$2,587,500.00
100.11	1,900.000	HR	INSPECTION OF LEAK SEALING LOCATIONS	\$392.00	\$744,800.00
107.831	2.000	EA	WALL PANEL REMOVED AND RESET (LEAK SEALING)	\$16,000.00	\$32,000.00
107.833	600.000	SF	WALL PANEL REMOVED FURNISHED AND INSTALLED	\$265.00	\$159,000.00
107.834	1,000.000	EA	TILE 8X8	\$1.50	\$1,500.00
107.835	300.000	SF	TILE 2X2	\$9.50	\$2,850.00
107.836	6,000.000	EA	INSTALL TILE 8X8	\$20.00	\$120,000.00
107.837	300.000	SF	INSTALL TILE 2X2	\$45.00	\$13,500.00
107.855	1,600.000	FT	PRESSURE INJECTION OF CRACKS	\$227.00	\$363,200.00
107.874	160.000	FT	MISCELLANEOUS JOINT REPAIR - BASE SLAB	\$377.00	\$60,320.00
107.881	175.000	HR	LEAK SEALING - TYPE I	\$1,958.00	\$342,650.00
107.882	175.000	HR	LEAK SEALING - TYPE II	\$1,958.00	\$342,650.00
107.883	175.000	HR	LEAK SEALING - TYPE III	\$1,958.00	\$342,650.00
107.884	2,800.000	HR	LEAK SEALING TYPE - IV	\$1,960.00	\$5,488,000.00
107.885	175.000	HR	LEAK SEALING - TYPE V	\$2,059.00	\$360,325.00
107.892	1,000.000	SF	WEARING SURFACE REPAIR	\$61.00	\$61,000.00
107.893	250.000	SF	CONCRETE AND SLURRY WALL REPAIR - TYPE I	\$281.00	\$70,250.00
107.894	350.000	CF	CONCRETE AND SLURRY WALL REPAIR - TYPE II	\$1,200.00	\$420,000.00
107.895	500.000	CF	CONCRETE AND SLURRY WALL REPAIR - TYPE III	\$960.00	\$480,000.00
107.896	25.000	CY	CONCRETE AND SLURRY WALL REPAIR - TYPE IV	\$23,500.00	\$587,500.00
107.897	50.000	CY	OVERHEAD CONCRETE REPAIR	\$47,500.00	\$2,375,000.00
107.898	1,000.000	SF	REMOVAL OF DETERIORATED CONCRETE	\$227.00	\$227,000.00
107.971	10.000	EA	HANDRAIL REMOVE AND RESET	\$6,415.00	\$64,150.00
107.972	2.000	EA	CALLAHAN PORTAL PUMP STATION STAIR REPLACEMENT	\$90,000.00	\$180,000.00
107.973	25.000	EA	CALLAHAN TUNNEL CEILING STRINGER TYPE 1 REPLACEMENT	\$25,200.00	\$630,000.00
107.974	5.000	EA	CALLAHAN TUNNEL CEILING STRINGER TYPE 2 REPLACEMENT	\$33,000.00	\$165,000.00
107.975	10.000	EA	HANGER TYPE 1 INSTALL	\$18,500.00	\$185,000.00
107.976	10.000	EA	HANGER TYPE 2 INSTALL	\$16,800.00	\$168,000.00
107.977	15.000	EA	HANGER TYPE 3 INSTALL	\$16,600.00	\$249,000.00
107.978	5.000	EA	HANGER TYPE 4 INSTALL	\$18,900.00	\$94,500.00
107.981	5.000	EA	REPLACE SINGLE DOOR	\$24,400.00	\$122,000.00
107.982	5.000	EA	REBUILD SINGLE DOOR	\$9,573.00	\$47,865.00
107.983	5.000	EA	REBUILD DOUBLE DOOR	\$12,100.00	\$60,500.00
107.984	5.000	EA	REBUILD I-90 CROSS PASSAGE DOOR	\$12,500.00	\$62,500.00
107.985	25.000	EA	REBUILD I-93 CROSS PASSAGE DOOR	\$13,700.00	\$342,500.00
107.991	200.000	EA	STAINLESS STEEL PANEL REMOVE AND RESET	\$405.00	\$81,000.00

^{*} Non-Standard Item

Project # : 612603

Contractor : J F WHITE CONTRACTING CO Contract # : 130548 : 6 Project Manager HEMA P BHATT

District

Location : BOSTON

Total	Unit Price	Item Description	Unit	Quantity	Item #
\$8,400.00	\$84.00	CMU BLOCK WALL REMOVE AND REBUILD (LEAK SEALING)	SF	100.000	107.992
\$162,500.00	\$650.00	MISC. METAL ELEC, MECH REMOVE AND RESET	HR	250.000	107.993
\$542,100.00	\$1,807.00	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 1	EA	300.000	107.994
\$338,400.00	\$2,256.00	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 2	EA	150.000	107.995
\$208,625.00	\$8,345.00	WALL PANEL TOP ANCHOR REPLACEMENT - TYPE 3	EA	25.000	107.996
\$210,000.00	\$21.00	REMOVAL OF SIP FORM WITHIN GIRDER BAY	SF	10,000.000	107.997
\$1,900,000.00	\$95.00	REPAIR OR REPLACEMENT FIREPROOFING	SF	20,000.000	107.998
\$625,000.00	\$100.00	INSTALL RIGID BOARD FIREPROOFING	SF	6,250.000	107.999
\$25,695.00	\$1,713.00	REMOVE EXISTING GIRDER BAY HATCH	EA	15.000	108.001
\$139,005.00	\$9,267.00	FURNISH AND INSTALL NEW GIRDER BAY HATCH	EA	15.000	108.002
\$45,555.00	\$3,037.00	REHABILITATE EXISTING GIRDER BAY HATCH	EA	15.000	108.003
\$53,500.00	\$10,700.00	LEAK PLUG FOR 1-INCH CONDUIT	EA	5.000	109.01
\$54,000.00	\$10,800.00	LEAK PLUG FOR 2-INCH CONDUIT	EA	5.000	109.02
\$54,000.00	\$10,800.00	LEAK PLUG FOR 2-INCH CONDUIT (MULTI CABLE)	EA	5.000	109.025
\$54,500.00	\$10,900.00	LEAK PLUG FOR 3-INCH CONDUIT	EA	5.000	109.03
\$54,500.00	\$10,900.00	LEAK PLUG FOR 3-INCH CONDUIT (MULTI CABLE)	EA	5.000	109.035
\$56,000.00	\$11,200.00	LEAK PLUG FOR 4-INCH CONDUIT	EA	5.000	109.04
\$55,000.00	\$11,000.00	LEAK PLUG FOR 4-INCH CONDUIT (MULTI CABLE)	EA	5.000	109.045
\$56,000.00	\$11,200.00	LEAK PLUG FOR 5-INCH CONDUIT	EA	5.000	109.05
\$56,000.00	\$11,200.00	LEAK PLUG FOR 5-INCH CONDUIT (MULTI CABLE)	EA	5.000	109.055
\$27,300.00	\$84.00	UNCLASSIFIED EXCAVATION	CY	325.000	120.1
\$24,000.00	\$24.00	DEWATERING	GAL	1,000.000	131.11
\$5,955.00	\$1,191.00	TEST PIT FOR EXPLORATION	CY	5.000	141.1
\$111,000.00	\$1,110.00	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	CY	100.000	160.2
\$7,500.00	\$7,500.00	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	LS	1.000	180.01
\$4,600.00	\$46.00	PERSONAL PROTECTION LEVEL C UPGRADE	HR	100.000	180.02
\$13,300.00	\$133.00	LICENSED SITE PROFESSIONAL SERVICES	HR	100.000	180.03
\$2,548.00	\$49.00	DISPOSAL OF UNREGULATED SOIL	TON	52.000	181.11
\$5,148.00	\$99.00	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	TON	52.000	181.12
\$61,620.00	\$156.00	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	TON	395.000	181.13
\$18,720.00	\$720.00	DISPOSAL OF HAZARDOUS WASTE	TON	26.000	181.14
\$23,000.00	\$23.00	TREATMENT OF CONTAMINATED GROUNDWATER	GAL	1,000.000	183.1
\$8,500.00	\$17.00	DISPOSAL OF GRANULAR ACTIVATED CARBON	LB	500.000	183.2
\$40,115.00	\$8,023.00	FRAME AND COVER - CIRCULAR (TYPE 1)	EA	5.000	221.11
\$7,800.00	\$520.00	REMOVE AND PLATE EXISTING ROADWAY STRUCTURE	EA	15.000	221.111
\$539,460.00	\$8,991.00	FRAME AND COVER - CIRCULAR (TYPE 2)	EA	60.000	221.12
\$95,960.00	\$9,596.00	FRAME AND COVER - CIRCULAR (TYPE 3)	EA	10.000	221.13

^{*} Non-Standard Item

Project # : 612603

Contractor : J F WHITE CONTRACTING CO Contract # : 130548

District : 6

6 Project Manager HEMA P BHATT

Location : BOSTON

Total	Unit Price	Item Description	Unit	Quantity	Item #
\$41,245.00	\$8,249.00	FRAME AND COVER - RECTANGULAR (TYPE 1)	EA	5.000	221.14
\$125,000.00	\$12,500.00	FRAME AND COVER - RECTANGULAR (TYPE 2)	EA	10.000	221.15
\$350,000.00	\$17,500.00	FRAME AND COVER - RECTANGULAR (TYPE 3)	EA	20.000	221.16
\$154,600.00	\$1,546.00	INSTALL ROADWAY JOINT UNDERDRAIN ASSEMBLY - TYPE A	FT	100.000	222.01
\$34,215.00	\$6,843.00	FRAME AND GRATE - MASSDOT CASCADE TYPE	EA	5.000	222.1
\$16,770.00	\$2,795.00	CATCH BASIN FRAME AND COVER	EA	6.000	222.111
\$33,528.00	\$5,588.00	CATCH BASIN FRAME AND COVER - INSTALL	EA	6.000	222.112
\$167,000.00	\$668.00	TUNNEL DRAIN INLET GRATE	EA	250.000	223.21
\$145,800.00	\$2,916.00	TUNNEL DRAIN INLET GRATE AND FRAME	EA	50.000	223.22
\$3,370.00	\$337.00	INSTALL TUNNEL DRAIN INLET GRATE	EA	10.000	223.23
\$323,600.00	\$6,472.00	INSTALL TUNNEL DRAIN INLET GRATE AND FRAME	EA	50.000	223.24
\$9,000.00	\$900.00	REMOVAL OF DRAINAGE STRUCTURE SEDIMENT	CY	10.000	227.3
\$5,400.00	\$54.00	REMOVAL OF DRAINAGE PIPE SEDIMENT	FT	100.000	227.31
\$13,000.00	\$26.00	BARRIER DRAINAGE TROUGH CLEANING	FT	500.000	227.32
\$3,870.00	\$774.00	CLEAN OUT DRAIN (4-INCH AND SMALLER)	EA	5.000	227.33
\$3,895.00	\$779.00	CLEAN OUT DRAIN (LARGER THAN 4-INCH)	EA	5.000	227.34
\$3,870.00	\$774.00	CLEAN OUT DRAIN (SUPPLY PLENUM)	EA	5.000	227.35
\$760.00	\$38.00	CLEAN OUT DRAIN PIPE (4-INCH AND SMALLER)	FT	20.000	227.36
\$960.00	\$48.00	CLEAN OUT DRAIN PIPE (LARGER THAN 4-INCH)	FT	20.000	227.37
\$480.00	\$24.00	CLEAN OUT DRAIN PIPE (SUPPLY PLENUM)	FT	20.000	227.38
\$28,270.00	\$2,827.00	BARRIER DRAIN REPAIR	EA	10.000	227.39
\$78,690.00	\$2,623.00	DRAIN INSPECTION CREW HOUR	HR	30.000	227.41
\$65,000.00	\$65,000.00	CONSTRUCTION DUST CONTROL PLAN	LS	1.000	443.1
\$45,600.00	\$912.00	HMA FOR PATCHING	TON	50.000	451.
\$455.00	\$35.00	ASPHALT EMULSION FOR TACK COAT	GAL	13.000	452.
\$4,536.00	\$63.00	HMA JOINT ADHESIVE	FT	72.000	453.
\$27,550.00	\$551.00	TEMPORARY ASPHALT PATCHING	TON	50.000	472.
\$190,500.00	\$127.00	WEARING SURFACE REPAIR - TECHCRETE REPAIR	SF	1,500.000	476.4
\$645,700.00	\$645,700.00	EQUIPMENT FOR ENGINEERS FIELD OFFICE	LS	1.000	747.
\$1,560,000.00	\$1,560,000.00	MOBILIZATION	LS	1.000	748.
\$125,000.00	\$125,000.00	CONSTRUCTION NOISE CONTROL	LS	1.000	748.5
\$79,050.00	\$1,581.00	EQUIPMENT GROUNDING	EA	50.000	813.61
\$265,000.00	\$10,600.00	GROUND BUS REPAIR	EA	25.000	813.62
\$100,200.00	\$4,008.00	GROUND BUS REPLACEMENT	EA	25.000	813.63
\$6,600.00	\$66.00	MICROLOOP ANTENNA INSTALLED IN ROADWAY	FT	100.000	819.833
\$33,700.00	\$1,348.00	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	DAY	25.000	851.1
\$18,000.00	\$45.00	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	SF	400.000	852.
\$2,090.00	\$209.00	PORTABLE BREAKAWAY BARRICADE TYPE III	EA	10.000	853.1
\$24,750.00	\$495.00	TRUCK MOUNTED ATTENUATOR	DAY	50.000	853.403

^{*} Non-Standard Item

Project # : 612603

 Contractor
 : J F WHITE CONTRACTING CO

 District
 : 6

 Project Manager
 HEMA P BHATT

Location : BOSTON

Tota	Unit Price	Item Description	Unit	Quantity	Item #
\$10,000.00	\$200.00	TEMPORARY PORTABLE RUMBLE STRIP	DAY	50.000	854.6
\$850.00	\$17.00	ARROW BOARD	DAY	50.000	856.
\$1,700.00	\$34.00	PORTABLE CHANGEABLE MESSAGE SIGN	DAY	50.000	856.12
\$35.00	\$0.70	REFLECTORIZED DRUM	DAY	50.000	859.
\$2,550.00	\$51.00	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	DAY	50.000	859.1
\$3,000.00	\$3.00	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	LB	1,000.000	910.1
\$236,000.00	\$59.00	STRUCTURAL STEEL - COATED STEEL	LB	4,000.000	960.1
\$325,280.00	\$76.00	STAINLESS STEEL	LB	4,280.000	960.13
\$298,575.00	\$1,327.00	CLEAN AND PAINT STRUCTURAL STEEL	FT	225.000	961.3
\$232,350.00	\$4,647.00	CLEAN AND PAINT SOLDIER PILES	EA	50.000	961.4
\$111,400.00	\$557.00	CLEAN AND PRIME CALLAHAN CEILING STRINGER	FT	200.000	961.5
\$15,600.00	\$78.00	FINISH PAINT CALLAHAN CEILING STRINGER	FT	200.000	961.6
\$46,620.00	\$333.00	MEMBRANE WATERPROOFING SPRAY APPLIED	SY	140.000	965.21
\$2,200,000.00	\$220,000.00	TWT STANDPIPE JOINT REPAIR (TYPE 1)	EA	10.000	998.11
\$1,670,000.00	\$334,000.00	TWT STANDPIPE JOINT REPAIR (TYPE 2)	EA	5.000	998.12
\$371,400.00	\$61,900.00	TWT STANDPIPE JOINT REPAIR (TYPE 3)	EA	6.000	998.13
\$189,200.00	\$189,200.00	TWT STANDPIPE JOINT REPAIR (TYPE 4)	EA	1.000	998.14
\$500,000.00	\$250,000.00	TWT STANDPIPE JOINT REPAIR (TYPE 5)	EA	2.000	998.15
\$7,168.00	\$3,584.00	TWT STANDPIPE JOINT REPAIR (TYPE 6)	EA	2.000	998.16
\$7,904.00	\$304.00	TWT CONDUIT	EA	26.000	998.17
\$9,655.00	\$1,931.00	TWT FORCEMAIN	EA	5.000	998.18
\$16,813.00	\$989.00	TWT PIPE REMOVAL	EA	17.000	998.19
\$1,353,000.00	\$1,353,000.00	CALLAHAN TUNNEL EXHAUST PLENUM CLEANING AND SURVEY	LS	1.000	998.2
\$2,146,000.00	\$11,600.00	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (RECTANGLE)	EA	185.000	998.221
\$116,000.00	\$11,600.00	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (TRAPEZOID)	EA	10.000	998.222
\$406,000.00	\$11,600.00	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (WITH EXHAUST OPENING)	EA	35.000	998.223
\$34,800.00	\$11,600.00	REPLACEMENT CALLAHAN TUNNEL CEILING PANEL (ACCESS HATCH)	EA	3.000	998.224
\$1,460.00	\$73.00	REPLACEMENT CALLAHAN TUNNEL CEILING COVE	EA	20.000	998.225
\$2,520.00	\$63.00	REPLACEMENT CALLAHAN TUNNEL CEILING DUCT CLOSURE	EA	40.000	998.226
\$50,800.00	\$2,540.00	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING COVE	EA	20.000	998.227
\$60,080.00	\$1,502.00	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING DUCT CLOSURE	EA	40.000	998.228
\$2,376,600.00	\$10,200.00	INSTALL REPLACEMENT CALLAHAN TUNNEL CEILING PANEL	EA	233.000	998.23
\$81,500.00	\$163.00	CALLAHAN TUNNEL CEILING PANEL REPAIR - TYPE A	SF	500.000	998.231

^{*} Non-Standard Item

Project # : 612603

 Contractor
 : J F WHITE CONTRACTING CO

 District
 : 6

 Project Manager
 HEMA P BHATT

Location : BOSTON

Description: Tunnel Preservation within MHS Tunnels

	Item #	Quantity	Unit	Item Description	Unit Price	Total
*	998.232	500.000	SF	CALLAHAN TUNNEL CEILING PANEL REPAIR - TYPE B	\$730.00	\$365,000.00
*	998.233	10.000	EA	CALLAHAN TUNNEL CEILING PANEL FLUE RETROFIT	\$17,900.00	\$179,000.00
*	998.234	3.000	EA	CALLAHAN TUNNEL CEILING PANEL ACCESS HATCH	\$9,556.00	\$28,668.00
*	998.24	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM BULKHEAD REHABILITATION	\$48,500.00	\$48,500.00
*	998.25	1.000	LS	CALLAHAN TUNNEL EXHAUST PLENUM BALANCING	\$174,200.00	\$174,200.00
*	998.31	1.000	LS	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REHABILITATION WEST DUCT	\$1,375,000.00	\$1,375,000.00
*	998.32	1.000	LS	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REHABILITATION EAST DUCT	\$716,400.00	\$716,400.00
*	998.33	1,200.000	SF	CALLAHAN TUNNEL SUPPLY AIR DUCT INVERT REPAIRS	\$339.00	\$406,800.00
*	998.4	100.000	CY	REMOVAL OF SUPPLY PLENUM DEBRIS	\$969.00	\$96,900.00
*	998.5	5.000	EA	I-90 SUPPLY PLENUM PRECAST SIP FORM REMOVAL	\$69,400.00	\$347,000.00
*	998.61	3,481.000	LF	REPLACEMENT COVER FOR STANDPIPE TRENCH	\$1,265.00	\$4,403,465.00
*	998.62	4.000	EA	EGRESS RAMP CONSTRUCTION	\$10,400.00	\$41,600.00
*	998.63	32.000	EA	PULLBOX WATERPROOFING	\$2,809.00	\$89,888.00
*	998.64	10.000	EA	STANDPIPE TRENCH DRAIN	\$635.00	\$6,350.00
*	998.71	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE	\$155,800.00	\$155,800.00
*	998.72	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE - ELECTRICAL/SCADA	\$653,200.00	\$653,200.00
*	998.73	1.000	LS	VENT BUILDING 1 EGRESS CORRIDOR DRAINAGE - PLUMBING	\$208,100.00	\$208,100.00
*	998.81	6.000	EA	SETTLING TANK CLEANING INSPECTION AND LINING	\$83,500.00	\$501,000.00
*	998.82	3.000	EA	PUMP STATION SLUICE GATE OPERATOR REPAIR	\$95,600.00	\$286,800.00
*	998.821	1.000	EA	PUMP STATION SLUICE GATE REPAIR TYPE A	\$97,900.00	\$97,900.00
*	998.822	3.000	EA	PUMP STATION SLUICE GATE REPAIR TYPE B	\$133,500.00	\$400,500.00
*	998.83	2.000	EA	PUMP STATION WEIR VALVE REPAIR	\$29,100.00	\$58,200.00
*	998.91	1.000	LS	PARCEL 22 PHASE 1	\$558,900.00	\$558,900.00
*	998.92	1.000	LS	PARCEL 22 PHASE 2	\$31,900.00	\$31,900.00

Contract Bid Estimate Grand Total : \$52,182,001.00

^{*} Non-Standard Item

Proposal ID: 612603-130548

Call: 006

ADDENDA ACKNOWLEDGMENT COMMONWEALTH OF MASSACHUSETTS MassDOT 10 PARK PLAZA, BOSTON, MA

Proposal No: 612603-130548

Municipality: BOSTON

Proposal Description: Tunnel Preservation within MHS Tunnels [BOSTON]

The bidder acknowledges that the bid as submitted includes the following addenda:

Addenda Number Date Issued Addenda Number Date Issued 7/15/2025 1 2 7/17/2025 3 7/24/2025 4 7/25/2025 5 8/1/2025 8/12/2025 6 7 8/12/2025 8/15/2025 8/15/2025 9

Letting: 20250819	Commonwealth of Massachusetts	Proposal ID: 612603-130548
08/19/2025 02:00:00 PM	MassDOT	Call: 006

I AGREE THAT FAILURE TO ACKNOWLEDGE INCLUSION OF ANY ADDENDA ISSUED FOR THIS PROJECT MAY RESULT IN THIS BID BEING DECLARED NON-RESPONSIVE AND NOT ELIGIBLE FOR AWARD CONSIDERATION.

END OF DOCUMENT

Page 11

Proposal ID: 612603-130548

Call: 006

AFFIDAVIT OF NON-COLLUSION COMMONWEALTH OF MASSACHUSETTS MassDOT 10 PARK PLAZA, BOSTON, MA

Proposal No: 612603-130548

Municipality: BOSTON

Proposal Description: Tunnel Preservation within MHS Tunnels [BOSTON]

The bidder acknowledges that the bid as submitted includes the following addenda:

The undersigned certifies under penalties of perjury that this bid is in all respects bona fide, fair and made without collusion or fraud with any other person. As used in this paragraph the word "person' shall mean any natural person, joint venture, partnership, corporation or other business or legal entity. The undersigned further certifies that said Bidder has not, either directly or indirectly, entered into any agreement or otherwise taken any action in restraint of free competitive bidding in connection with this proposal.

The undersigned, under the pains and penalties or perjury, states that he/she is the sole owner, partner, president, treasurer, or other duly authorized agent or official of

J.F.White Contracting Company
(Name of Bidder as appearing in submitted proposal)

10 Burr Street (Address of Bidder)

Framingham, MA 01545 (City, State) (Zip Code)

508-979-4700 (Telephone Number of Bidder)

The Digital ID holder acknowledges that he/she is the signatory and submitter of this Affidavit of Non-Collusion.

▶ By clicking this box, the Digital ID holder submitting the bid digitally signs this Affidavit of Non-Collusion.

FAILURE TO SIGN THIS AFFIDAVIT WILL RESULT IN THIS BID BEING DECLARED NON-RESPONSIVE AND INELLIGBLE FOR AWARD CONSIDERATION.

END OF DOCUMENT

Page 12

Proposal ID: 612603-130548

Call: 006

FILE ATTACHMENTS COMMONWEALTH OF MASSACHUSETTS MassDOT 10 PARK PLAZA, BOSTON, MA

Proposal No: 612603-130548

Municipality: BOSTON

Proposal Description: Tunnel Preservation within MHS Tunnels [BOSTON]

Upload technical documents below.

Note: There is a 5MB file size limit per attached file:

Attachment #1 Description:

Attachment #2 Description:

Attachment #3 Description:

Attachment #4 Description:

Page 13

Proposal ID: 612603-130548

Call: 006

BID BOND

☐ Paid by certified check / submitted paper bond / bond is not required for this bid

**Electronic Bid Bond #: SMA0806325023 Verify Clear

**Surety Registry Agency: Surety2000

Surety Company: Liberty Mutual Insurance Company

** = Required

KNOW ALL MEN BY THESE PRESENTS THAT J.F. White Contracting Company as principal, and Liberty Mutual Insurance Company, as surety, who is duly licensed to act as surety in the Commonwealth of Massachusetts, are held and firmly bound unto the Commonwealth of Massachusetts through Massachusetts Department of Transportation as obligee, in the penal sum of Five Percent of amount Bid DOLLARS (not to be less than 5% of the bid price), lawful money of the United States of America, for the payment of which, well and truly to be made, we bind ourselves, our heirs, executors, administrators, successors and assigns, jointly and severally, firmly by these presents.

The condition of the above obligation is such that whereas the Principal has submitted to the Obligee /Owner a certain Bid, attached hereto and hereby made a part hereof, to enter into a contract in writing for the:
Tunnel Preservation within MHS Tunnels [BOSTON]
Name of Contract

NOW, THEREFORE, THE CONDITION OF THE ABOVE OBLIGATION is such, that if the bid shall be rejected or if the principal shall be awarded the contract for which the bid is submitted and shall execute the contract and give bond for the faithful performance thereof within fourteen (14) days after the award of same to the principal, then this obligation shall be null and void; but if the principal fails to so execute such contract and give performance bond as required by MGL Chapter 30,\$39M, the surety shall, upon demand, forthwith pay to the obligee the amount set forth in the first paragraph hereof. The Surety for value received, hereby stipulates and agrees that the obligations of said Surety and its bond shall in no way be impaired or affected by any extension of time within which the Obligee/ Owner may accept the Bid and said Surety waives notice of any such extension. Provided further, that the bid may be withdrawn as provided by Section 2.07 of the Standard Specifications for Highways and Bridges latest edition.





MBE/WBE CONCURRENCE MEMO

TO: Leo Mooney

Director of Construction Procurement and Prequal

FROM: Wystan Umland, JD (1) (1)

Assistant Director, Federal Programs

DATE: August 29, 2025

RE: ODCR Concurrence Memo: Project File No. 612603 – Tunnel Preservation

within MHS Tunnels – NON FA

The Office of Diversity and Civil Rights (ODCR) reviewed the two (2) bids for the above-mentioned contract to determine compliance with MassDOT Highway Division's MBE/WBE program. Bids were submitted by: JF WHITE CONTRACTING CO for \$52,182,001.00; and, SPS NEW ENGLAND for \$56,334,301.50.

The apparent low bidder is JF WHITE CONTRACTING CO ("JFW") for \$52,182,001.00. The established DBE participation goal for this project is 14% making the DBE participation goal amount for this bid \$7,305,480.14.

JFW has committed to using the following DBE firms as per the Schedule of Participation submitted with the bid:

- GeoTek Engineering, Inc. (WBE)
 - 0 \$52,000.00
- Strategic Environmental Services (WBE)
 - 0 \$114,027.00
- Atlantic Bridge & Engineering (WBE)
 - 0 \$2,998,884.00
- Dagle Electrical Construction (WBE)
 - 0 \$1,348,607.00
- Harding & Smith (WBE)
 - 0 \$2,085,283.00
- Taibbi Equipment Corp. (WBE)
 - o \$217,500.00
- Saugus Construction Corp. (M/WBE)
 - 0 \$600,120.00

The MBE/WBE participation amount totals \$7,416,421.43 for a commitment of 14.2%

The Office of Diversity and Civil Rights finds JFW's submission to be compliant with the requirements and approves the bid as presented.

cc: M. Bates

A. Bresciani

R. Collins

K. Montiero Caesar



SCHEDULE OF PARTICIPATION BY MINORITY OR WOMEN BUSINESS ENTERPRISES (M/WBE)

PROJECT LOCATION: BOST				
DATE OF BID OPENING:				
NAME OF PRIME BIDDER: _	J.F. White Contracting C	0.		
Name Address and Phone Number of M/WBE	Name of Activity	(a) M/WBE Contractor Activity Amount	(b) M/WBE Other Business Amount	(c) Total amount eligible for credit under rules in Section VIII of the Special Provisions
GeoTek Engineering, Inc. 32 Harwich Pines, Harwich, MA 508-875-3907	Noise Control Plan & Monitoring	\$52,000.00		\$52,000.00
Strategic Environmental Services 362 Putnam Hill Road Sutton, MA 01590 508-757-7782	Soil characterization, plans, permitting support and soil disposal	\$114,027.43		\$114,027.43
Atlantic Bridge & Engineering 150 High Street Hampton, NH 03842 (603) 601-7487	Fabricate various steel items	\$2,998,884.00		\$2,998,884.00
Dagle Electrical Construction Corp 68 Industrial Way Wilmington, Ma 01887 800-379-1459	Furnish & Install various electrical items	\$1,348,607.00		\$1,348,607.0
CON	TINUED ON NEXT PAG	3E		
Total Bid Amount	TOTALS:	\$		\$
\$	M/WBE Percentage of Total bid:	%		%
Column	(a) must be at least one-half of t	the M/WBE percenta	ige goal.	
SIGNATURE:	Date:	Tel No	:	

*** END OF DOCUMENT ***

PARTICIPATION BY MINORITY OR WOMEN BUSINESS ENTERPRISES AND SERVICE DISABLED VETERAN OWNED BUSINESS ENTERPRISES.



SCHEDULE OF PARTICIPATION BY MINORITY OR WOMEN BUSINESS ENTERPRISES (M/WBE)

	SSDOT PROJECT NUMBE				
PRC	DJECT LOCATION: BOST	TON			
DA	TE OF BID OPENING:	August 19, 2025	_		
NAI	ME OF PRIME BIDDER: _	J.F. White Contracting C	0.		
	Name Address and Phone Number of M/WBE	Name of Activity	(a) M/WBE Contractor Activity Amount	(b) M/WBE Other Business Amount	(c) Total amount eligible for credit under rules in Section VIII of the Special Provisions
	Harding & Smith 200 Main Street Walpole, MA 02081 508-668-8100	Furnish & install plumbers scope	\$2,085,283.00		\$2,085,283.00
	Taibbi Equipment Corp. 80 New Salem St Wakefiled, MA 01880 781-245-0307	Tri-axle with Teamster Services	\$217,500.00		\$217,500.00
-	Saugus Construction Corp. One Farm Lane Georgetown, MA 01833 978-352- 7171	Steel Erection	\$600,120.00		\$600,120.00
1-					
<u> </u>					
	Total Bid Amount	TOTALS:	\$ 7,416,421.43		\$ 7,416,421.43
	\$ 52,182,001.00	M/WBE Percentage of Total bid:	%14.2		<u>%</u> 14.2
	NATURE: Cynthia F. — Duerden NAI	(a) must be at least one-half of the Digitally signed by Cynthia F. Duerden Date: 2025.08.22 12:06:12 O4000 ME AND TITLE Cynthia F.	/22/25 Tel No Duerden, Senio	o: 617-558 or Vice Presi	dent
		<u>IONED TO REVIEW DOCUM</u> ORITY OR WOMEN BUSINES			

*** END OF DOCUMENT ***

VETERAN OWNED BUSINESS ENTERPRISES.



MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 1 OF 2

11102 1 01 2
MASSDOT PROJECT NUMBER: 612603
PROJECT LOCATION: BOSTON
DATE OF BID OPENING: August 19, 2025
FROM _ GeoTek Engineering Inc. (Minority or Women's Business Enterprise Company)
TO: J.F. White Contracting Co. (Name of Prime Contractor)
1. My company is currently certified as an MBE or WBE by the Massachusetts Supplier Diversity Office, formerly known as the State Office of Minority and Women Business Assistance (SOMWBA). There have been no changes affecting the ownership, control or independence of my company since my last certification review.
2. If any such change occurs prior to my company's completion of this proposed work, I will give written notification to your firm and to the Massachusetts Department of Transportation (MassDOT).
3. (For contractor activity only.) My firm will provide to you, upon request, for the purpose of obtaining subcontractor approval from MassDOT; (1) a resume stating the qualifications and experience of the superintendent

contact person for the contracting organization, the dollar value of the work, a description of the work, and my firm's work schedule for the Project.

4. If you are awarded the Contract, my company intends to enter into an agreement with your firm to perform the items of work or other activity described on the following sheet for the prices indicated.

or foreperson who will supervise on site-work; (2) a list of equipment owned or leased by my firm for use on the project; (3) a list of all projects (public or private) which my firm is currently performing, is committed to perform, or intends to make a commitment to perform. I shall include, for each project, the names and telephone number of a

5. My firm has the ability to manage, supervise and perform the activity described on the following page.

Julia Ligalor		
Survey	8/22/2025	
M/WBE Authorized Signature	Date	



MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 2 OF 2

MAS	SSDOT PROJECT	Г NUMBER: _612603			
PRO	JECT LOCATIO	N: BOSTON			
DAT	TE OF BID OPEN	ING: August 19, 2025			
NAN	ME OF PRIME BI	DDER: J.F. White Contracting Co.	<u> </u>		
Γ				1	
	Item number if applicable	Description of Activity with notations such as Installation Only, Material Only, or Complete	Quantity	<u>Unit</u> <u>Price</u>	Amount
	748.5	Construction Noise Control Monitoring & Management	1 LS	\$52,000	\$52,000
			TOTAL AM	OUNT:	\$52,000.00
M/W	BE COMPANY	NAME: GeoTek Engineering,	Inc.		
M/W	/BE AUTHORIZI	ED SIGNATURE: Julia of	galo	_	
NAN	ME AND TITLE (PRINT): Julia Sigalovsky, presider	nt		
TEL	EPHONE NUMB	ER: 508-479-2242 FAX N	UMBER: n/a		
					Rev'd 9/20/19

*** END OF DOCUMENT ***

THE COMMONWEALTH OF MASSACHUSETTS

Executive Office for Administration and Finance SUPPLIER DIVERSITY OFFICE

One Ashburton Place, Suite 1017
Boston, MA 02108-1552
Maura Healey
Governor
Kim Driscoll
Lieutenant Governor
Matthew Gorzkowicz
Secretary
William M. McAvoy
Executive Director

September 13, 2023 Dr. Julia Sigalovsky GeoTek Engineering, Inc. 32 Harwich Pines Harwich, MA 02645

Dear Dr. Sigalovsky:

Congratulations! Your firm has been renewed as a woman business enterprise (WBE) with the Supplier Diversity Office ('SDO') under the business description of **GEOTECHNICAL** INSTRUMENTATION AND ACOUSTICAL **ENGINEERING** SERVICES **FOR** CONSTRUCTION PROJECTS, PRE-CONSTRUCTION SURVEYS AND VIBRATION MONITORING. Your firm will be listed in the SDO Certified Business Directory and the Massachusetts Central Register under this description. This letter serves as the sole proof of your SDO certification. Your designation as a WBE is valid for three (3) years unless revoked pursuant to 425 CMR 2.00.

Your firm's next renewal date is October 13, 2026. SDO will send written renewal notices to your business and/or e-mail address on file approximately thirty (30) business days prior to your firm's three (3) years certification anniversary. Additionally, every six (6) years, certified companies that wish to remain certified may undergo a substantive review which will require certain updated supporting documentation.

SDO also reserves the right to monitor your firm and to perform random spot checks to ensure the firm continues to meet the certification criteria. Your firm is required to notify the SDO in writing of any material changes. Examples include but are not limited to changes in its business description, as well as business phone number, fax number, business' physical location, webpage and e-mail addresses. Other reportable changes include business structure, ownership (the business is sold or transferred), control and outside employment. You also have a duty to report decertification and debarment notices from this or any other jurisdiction. Failure to abide by the continuing duty requirements shall constitute grounds for the firm's decertification.

Sincerely,

William M. McAvoy Executive Director

William M. M. Avoy



MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 1 OF 2

MASSDOT PROJECT NUMBER: 612603
PROJECT LOCATION: BOSTON
DATE OF BID OPENING: August 19, 2025
FROM Strategic Environmental Services (Minority or Women's Business Enterprise Company)
TO: J.F. White Contracting Co. (Name of Prime Contractor)
1. My company is currently certified as an MBE or WBE by the Massachusetts Supplier Diversity Office, formerly known as the State Office of Minority and Women Business Assistance (SOMWBA). There have been no changes affecting the ownership, control or independence of my company since my last certification review.
2. If any such change occurs prior to my company's completion of this proposed work. I will give written notification

- 2. If any such change occurs prior to my company's completion of this proposed work, I will give written notification to your firm and to the Massachusetts Department of Transportation (MassDOT).
- 3. (For contractor activity only.) My firm will provide to you, upon request, for the purpose of obtaining subcontractor approval from MassDOT; (1) a resume stating the qualifications and experience of the superintendent or foreperson who will supervise on site-work; (2) a list of equipment owned or leased by my firm for use on the project; (3) a list of all projects (public or private) which my firm is currently performing, is committed to perform, or intends to make a commitment to perform. I shall include, for each project, the names and telephone number of a contact person for the contracting organization, the dollar value of the work, a description of the work, and my firm's work schedule for the Project.
- 4. If you are awarded the Contract, my company intends to enter into an agreement with your firm to perform the items of work or other activity described on the following sheet for the prices indicated.
- 5. My firm has the ability to manage, supervise and perform the activity described on the following page.

ν	
	8/21/25
M/WBE Authorized Signature	Date



MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 2 OF 2

MAS	SSDOT PROJECT	NUMBE	ER: 612603				
PRC	JECT LOCATION	N: BOS	ΓΟN				
DA	TE OF BID OPENI	ING:	August 19, 2025				
NAN	ME OF PRIME BII	DDER: _	J.F. White Contracting C	o.			
F						1	
 -	Item number if applicable	Descrip with note Complete	otion of Activity tions such as Installation Only, Material On	ly, or	Quantity	<u>Unit</u> <u>Price</u>	Amount
		Plea	se See Attached				
Ŀ					TOTAL AM	OUNT:	\$114,027.43
M/W	VBE COMPANY N	NAME:	Strategic Environmenta	l Servic	es Inc		
M/W	VBE AUTHORIZE	ED SIGNA	ATURE:				
NAN	ME AND TITLE (I	PRINT):	Bryan Gava				
TEL	EPHONE NUMBI	ER:	508-757-7782	FAX NU	MBER:		
							Rev'd 9/20/19

B00843 - 2

*** END OF DOCUMENT ***

MassDOT Project Number612603Project LocationBostonDate Bid Opening8/19/2025

Name of BidderJ.F. White Contracting Co.Name of SupplierStrategic Environmental Services

Item Number	Description of Activity	Quantity	ι	Jnit Price	Amount
180.03	LICENSED SITE PROFESSIONAL SERVICES	100	\$	105.00	\$ 10,500.00
181.11	DISPOSAL OF UNREGULATED SOIL	52	\$	38.64	\$ 2,009.28
181.12	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	52	\$	77.70	\$ 4,040.40
181.13	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	395	\$	122.85	\$ 48,525.75
181.14	DISPOSAL OF HAZARDOUS WASTE	26	\$	567.00	\$ 14,742.00
183.1	TREATMENT OF CONTAMINATED GROUNDWATER(Tanker Disposal)	1000	\$	18.00	\$ 18,000.00
183.2	DISPOSAL OF GRANULAR ACTIVATED CARBON	500	\$	13.00	\$ 6,500.00
748	HASP & Management Plans	1	\$	9,710.00	\$ 9,710.00
					\$ -
					\$ -

Total \$ 114,027.43

THE COMMONWEALTH OF MASSACHUSETTS

Executive Office for Administration and Finance SUPPLIER DIVERSITY OFFICE

One Ashburton Place, Suite 1017
Boston, MA 02108-1552
Maura Healey
Governor
Kim Driscoll
Lieutenant Governor
Matthew Gorzkowicz
Secretary
William M. McAvoy
Executive Director

September 13, 2023
Ms. Marsha Harris
Strategic Environmental Services, Inc.
362 Putman Hill Road
Sutton, MA 01590

Dear Ms. Harris:

Congratulations! Your firm has been renewed as a woman business enterprise (WBE) with the Diversity Office ('SDO') under the business description of **ENVIRONMENTAL** CONSULTANT PROVIDING SERVICES FOR THE REMOVAL AND DISPOSAL OF HAZARDOUS. NON-HAZARDOUS, AND INDUSTRIAL WASTE MATERIALS, INCLUDING TRANSPORTATION: ASBESTOS REMOVAL AND DISPOSAL; PROJECT MANAGEMENT ON SITE FIELD SERVICES; INCLUDING INSTALLING AND MAINTAINING EROSION CONTROL BARRIERS, STAKES, SILT FENCES AND TEMPORARY FENCING. Your firm will be listed in the SDO Certified Business Directory and the Massachusetts Central Register under this description. This letter serves as the sole proof of your SDO certification. Your designation as a WBE is valid for three (3) years unless revoked pursuant to 425 CMR 2.00.

Your firm's next renewal date is September 06, 2026. SDO will send written renewal notices to your business and/or e-mail address on file approximately thirty (30) business days prior to your firm's three (3) years certification anniversary. Additionally, every six (6) years, certified companies that wish to remain certified may undergo a substantive review which will require certain updated supporting documentation.

SDO also reserves the right to monitor your firm and to perform random spot checks to ensure the firm continues to meet the certification criteria. Your firm is required to notify the SDO in writing of any material changes. Examples include but are not limited to changes in its business description, as well as business phone number, fax number, business' physical location, webpage and e-mail addresses. Other reportable changes include business structure, ownership (the business is sold or transferred), control and outside employment. You also have a duty to report decertification and debarment notices from this or any other jurisdiction. Failure to abide by the continuing duty requirements shall constitute grounds for the firm's decertification.

Sincerely,

William M. McAvoy Executive Director

William M. M. Avoy

MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 2 OF 2

MAS	SSDOT PROJECT	Г NUMBER: 612603			
PRO	JECT LOCATIO	N: BOSTON			
DA1	TE OF BID OPEN	IING: August 19, 2025			
NAN	ME OF PRIME B	IDDER: J.F. White Contracting Co.			
Ī			1		
	Item number if applicable	Description of Activity with notations such as Installation Only, Material Only, or Complete	Quantity	Unit Price	Amount
		Please See Attached			
Į.			TOTAL AM	OUNT:	\$2,998,884.0
M/W	VBE COMPANY	NAME: Atlantic Bridge & Engine	ering, Inc.		
M/W	VBE AUTHORIZ	ed signature:	١		
NAN	ME AND TITLE ((PRINT): Courtney Branagan, Trea	surer		
TEL	EPHONE NUME	BER: 603-601-7487 FAX N	UMBER: <u>603</u>	-601-7983	3
		*** END OF DOCUMENT	***		Rev'd 9/20/19

MassDOT Project Number
Project Location
Date Bid Opening
Name of Bidder
Name of Supplier

Boston 8/19/2025 J.F. White Contracting Co. Atlantic Bridge & Engineering

612603

Item Number	Description of Activity	Quantity		Unit Price	Amount
107.994	Wall Panel Type 1 Anchorage - Furnish Only	300	\$	403.75	\$ 121,125.00
107.995	Wall Panel Type 2 Anchorage - Furnish Only	150	\$	1,121.00	\$ 168,150.00
107.996	Wall Panel Type 3 Anchorage - Furnish Only	25	\$	5,790.25	\$ 144,756.25
	Callahan Portal Pump Stair Replacement - Furnish				
107.972	Only	2	\$	34,912.50	\$ 69,825.00
	Callahan Ceiling Stringer Type 1 Replacement -		-		
107.973	Furnish Only	25	\$	8,516.75	\$ 212,918.75
	Callahan Ceiling Stringer Type 2 Replacement -				
107.974	Furnish Only	5	\$	12,986.50	\$ 64,932.50
108.002	New Girder Bay Hatch - Furnish only	15	\$	2,992.50	\$ 44,887.50
960.1	Structural Steel - Furnish Only	4000	\$	24.70	\$ 98,800.00
998.110	TWT Standpipe Joint Repair- Type 1 Furnish Only	10	\$	6,778.25	\$ 67,782.50
998.120	TWT Standpipe Joint Repair- Type 2 Furnish Only	5	\$	6,778.25	\$ 33,891.25
998.130	TWT Standpipe Joint Repair- Type 3 Furnish Only	6	\$	6,778.25	\$ 40,669.50
998.140	TWT Standpipe Joint Repair- Type 4 Furnish Only	1	\$	14,250.00	\$ 14,250.00
998.150	TWT Standpipe Joint Repair- Type 5 Furnish Only	2	\$	11,400.00	\$ 22,800.00
998,225	Callahan Ceiling Cover Furnish Only	20	\$	1,942.75	\$ 38,855.00
998.226	Callahan Duct Closure - Furnish Only	40	\$	3,006.75	\$ 120,270.00
998.232	Callahan Ceiling Repair Type B - Furnish Only	500	\$	356.25	\$ 178,125.00
998.233	Callahan Ceiling Flue Retrofit - Furnish Only	10	\$	9,500.00	\$ 95,000.00
998.234	Callahan Ceiling Panel Access Hatch - Furnish Only	3	\$	7,975.25	\$ 23,925.75
	Callahan Tunnel Exhaust Plenum Bulkhead - Furnish				
998.24	Only	1	\$	15,931.50	\$ 15,931.50
	Replacement Cover for Standpipe Trench - Furnish				
998.61	Only	3481	\$	408.50	\$ 1,421,988.50

Total \$ 2,998,884.00

THE COMMONWEALTH OF MASSACHUSETTS

Executive Office for Administration and Finance SUPPLIER DIVERSITY OFFICE

One Ashburton Place, Suite 1411
Boston, MA 02108-1552
Maura Healey
Governor
Kim Driscoll
Lieutenant Governor
Matthew Gorzkowicz
Secretary
William M. McAvoy
Executive Director

March 13, 2024

Ms. Victoria Kolenda Atlantic Bridge & Engineering, Inc. 150 High Street Hampton, NH 03842

Dear Ms. Kolenda:

Congratulations! Your firm has been renewed as a woman business enterprise (WBE) with the Supplier Diversity Office ('SDO') under the business description of installation and erection of structural steel: complex and simple, precast concrete, reinforcing steel, post-tensioning, temporary bridge structures, metal decking, bearings, miscellaneous and ornamental iron; fabrication: simple bridge steel, structural steel for buildings, major bridge with fracture critical endorsement, miscellaneous and ornamental iron. Your firm will be listed in the SDO Certified Business Directory and the Massachusetts Central Register under this description. This letter serves as the sole proof of your SDO certification. Your designation as a WBE is valid for three (3) years unless revoked pursuant to 425 CMR 2.00.

Your firm's next renewal date is March 01, 2027. SDO will send written renewal notices to your business and/or e-mail address on file approximately thirty (30) business days prior to your firm's three (3) years certification anniversary. Additionally, every six (6) years, certified companies that wish to remain certified may undergo a substantive review which will require certain updated supporting documentation.

SDO also reserves the right to monitor your firm and to perform random spot checks to ensure the firm continues to meet the certification criteria. Your firm is required to notify the SDO in writing of any material changes. Examples include but are not limited to changes in its business description, as well as business phone number, fax number, business' physical location, webpage and e-mail addresses. Other reportable changes include business structure, ownership (the business is sold or transferred), control and outside employment. You also have a duty to report decertification and debarment notices from this or any other jurisdiction. Failure to abide by the continuing duty requirements shall constitute grounds for the firm's decertification.

We look forward to working with you and your firm to maximize its business opportunities. Should you have any questions, please feel free to contact us via email at wsdo@state.ma.us.

Sincerely,

Wanda Colon-DAngelo

Director, Diverse and Small Business Certification

Wanda Colon-DAngelo.



MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 1 OF 2

MASSDOT PROJECT NUMBER: 612603	
PROJECT LOCATION: BOSTON	
DATE OF BID OPENING: August 19, 2025	
FROM Dagle Electrical Construction Corp (Minority or Women's Bus ness Enterprise Company)	
TO: J.F. White Contracting Co.	
(Name of Prime Contractor)	

- 1. My company is currently certified as an MBE or WBE by the Massachusetts Supplier Diversity Office, formerly known as the State Office of Minority and Women Business Assistance (SOMWBA). There have been no changes affecting the ownership, control or independence of my company since my last certification review.
- 2. If any such change occurs prior to my company's completion of this proposed work, I will give written notification to your firm and to the Massachusetts Department of Transportation (MassDOT).
- 3. (For contractor activity only.) My firm will provide to you, upon request, for the purpose of obtaining subcontractor approval from MassDOT; (1) a resume stating the qualifications and experience of the superintendent or foreperson who will supervise on site-work; (2) a list of equipment owned or leased by my firm for use on the project; (3) a list of all projects (public or private) which my firm is currently performing, is committed to perform, or intends to make a commitment to perform. I shall include, for each project, the names and telephone number of a contact person for the contracting organization, the dollar value of the work, a description of the work, and my firm's work schedule for the Project.
- 4. If you are awarded the Contract, my company intends to enter into an agreement with your firm to perform the items of work or other activity described on the following sheet for the prices indicated.
- 5. My firm has the ability to manage, supervise and perform the activity described on the following page.

M/WBE Authorized Signature

Maureen P. Dagle, President

8/21/25

Date

MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 2 OF 2

TAGE 2 OF 2						
MA	MASSDOT PROJECT NUMBER: 612603					
PR	PROJECT LOCATION: BOSTON					
DA	DATE OF BID OPENING: August 19, 2025					
NA	ME OF PRIME BI	IDDER: J.F. White Contracting Co.				
		ľ		Ť-		
	Item number if applicable	Description of Activity with notations such as Installation Only, Material Only, or Complete	Quantity	<u>Unit</u> <u>Price</u>	Amount	
		Please See Attached				
TOTAL AMOUNT: \$1,348,607.00						
M/W	BE COMPANY N	NAME: Dagle Electrical Construction	n Corp			
M/WBE AUTHORIZED SIGNATURE:						
NAME AND TITLE (PRINT): Maureen P. Dagle, President						
TELEPHONE NUMBER: 800-379-1459 FAX NUMBER: 781-937-7678						

IS AFTS IT WWW

Rev'd 9/20/19

MassDOT Project Number

612603

Project Location

Boston

Date Bid Opening

8/19/2025

Name of Bidder

J.F. White Contracting Co.

Name of Supplier

Dagle Electrical Construction Corp

Item Number	Description of Activity	Quantily	 Unit Price	Amount		
100.1	Base Labor Rate	2250	\$ 159.50	\$	358,875.00	
107.993	Misc. Metal Electrical Remove and Reset	250	\$ 212.00	\$	53,000.00	
109.01	Leak Plug For 1" Conduit	5	\$ 525.00	\$	2,625.00	
109.02	Leak Plug for 2" Conduit	5	\$ 618.00	\$	3,090.00	
109.025	Leak Plug for 2" Conduit (Multi Cable)	5	\$ 647.00	\$	3,235.00	
109.03	Leak Plug for 3" Conduit	5	\$ 704.00	\$	3,520.00	
109.035	Leak Plug for 3" Conduit (Multi Cable)	5	\$ 802.00	\$	4,010.00	
109.04	Leak Plug 4" Conduit	5	\$ 844.00	\$	4,220.00	
109.045	Leak Plug 4" Conduit (Multi Cable)	5	\$ 909.00	\$	4,545.00	
109.05	Leak Plug 5" Conduit	5	\$ 1,190.00	\$	5,950.00	
109.055	Leak Plug 5" Conduit (Multi Cable)	5	\$ 1,488.00	\$	7,440.00	
813,61	Equipment Grounding	50	\$ 558.00	\$	27,900.00	
813.62	Ground Bus Repair	25	\$ 1,085.00	\$	27,125.00	
813.63	Ground Bus Replacement	25	\$ 1,772.00	\$	44,300.00	
819.833	Microloop Antenna Install in Roadway	100	\$ 133.00	\$	13,300.00	
998.12	TWT Standpipe Joint Repair (Type 2)	5	\$ 10,368.00	\$	51,840.00	
998.17	TWT Conduit	26	\$ 9,780.00	\$	254,280.00	
998.72	Vent Bldg. 1 Electrical / Scada	1	\$ 479,352.00	\$	479,352.00	

Total \$ 1,348,607.00

THE COMMONWEALTH OF MASSACHUSETTS

Executive Office for Administration and Finance SUPPLIER DIVERSITY OFFICE

One Ashburton Place, Suite 1410
Boston, MA 02108-1552
Maura Healey
Governor
Kim Driscoll
Lieutenant Governor
Matthew Gorzkowicz
Secretary
William M. McAvoy
Executive Director

April 17, 2024

Ms. Maureen Dagle
Dagle Electrical Construction Corp.
68 Industrial Way
Wilmington, MA 01887-3434

Dear Ms. Dagle:

Congratulations! Your firm has been renewed as a woman business enterprise (WBE) with the Supplier Diversity Office ('SDO') under the business description of communication line and related structures construction including: substations, power plants and solar power; traffic signal installation and maintenance; electrical and general contractor work as it relates to transportation including: traffic signal systems; highway and street lighting; intersection improvements; and intelligent transportation systems. Your firm will be listed in the SDO Certified Business Directory and the Massachusetts Central Register under this description. This letter serves as the sole proof of your SDO certification. Your designation as a WBE is valid for three (3) years unless revoked pursuant to 425 CMR 2.00.

Your firm's next renewal date is May 02, 2027. SDO will send written renewal notices to your business and/or e-mail address on file approximately thirty (30) business days prior to your firm's three (3) years certification anniversary. Additionally, every six (6) years, certified companies that wish to remain certified may undergo a substantive review which will require certain updated supporting documentation.

SDO also reserves the right to monitor your firm and to perform random spot checks to ensure the firm continues to meet the certification criteria. Your firm is required to notify the SDO in writing of any material changes. Examples include but are not limited to changes in its business description, as well as business phone number, fax number, business' physical location, webpage and e-mail addresses. Other reportable changes include business structure, ownership (the business is sold or transferred), control and outside employment. You also have a duty to report decertification and debarment notices from this or any other jurisdiction. Failure to abide by the continuing duty requirements shall constitute grounds for the firm's decertification.

We look forward to working with you and your firm to maximize its business opportunities. Should you have any questions, please feel free to contact us via email at wsdo@state.ma.us.

Sincerely,

Wanda Colon-DAngelo

Director, Diverse and Small Business Certification

Wanda Colon-DAngelo.



MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 1 OF 2

MASS	DOT PROJECT NUMBER: 612603
PROJE	ECT LOCATION: BOSTON
DATE	OF BID OPENING: 08/19/2025
FROM	Harding & Smith
	(Minority or Women's Business Enterprise Company)
TO:	J.F. White Contracting Company
	(Name of Prime Contractor)
known	y company is currently certified as an MBE or WBE by the Massachusetts Supplier Diversity Office, formerly as the State Office of Minority and Women Business Assistance (SOMWBA). There have been no changes ng the ownership, control or independence of my company since my last certification review.
2. If	any such change occurs prior to my company's completion of this proposed work, I will give written notification

- on to your firm and to the Massachusetts Department of Transportation (MassDOT).
- 3. (For contractor activity only.) My firm will provide to you, upon request, for the purpose of obtaining subcontractor approval from MassDOT; (1) a resume stating the qualifications and experience of the superintendent or foreperson who will supervise on site-work; (2) a list of equipment owned or leased by my firm for use on the project; (3) a list of all projects (public or private) which my firm is currently performing, is committed to perform, or intends to make a commitment to perform. I shall include, for each project, the names and telephone number of a contact person for the contracting organization, the dollar value of the work, a description of the work, and my firm's work schedule for the Project.
- 4. If you are awarded the Contract, my company intends to enter into an agreement with your firm to perform the items of work or other activity described on the following sheet for the prices indicated.
- 5. My firm has the ability to manage, supervise and perform the activity described on the following page.

\ P	
	8/21/2025
M/WBE Authorized Signature	Date

MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT

PAGE 2 OF 2

MASSDOT PROJECT NUMBER: 612603
PROJECT LOCATION: BOSTON
DATE OF BID OPENING: 08/19/25

NAME OF PRIME BIDDER: JF WHITE CONTRACTING COMPANY

Item # if	<u>Description of Activity</u> with notations such as Installartion Only, Material					
apllicable	Only, or Complete	<u>Qty</u>	<u>Units</u>	Unit Price	Bi	id Item Total
998.11	TWT STANDPIPE JOINT REPAIR (TYPE 1)	9.00	EA	\$ 74,303.44	\$	668,731.00
998.12	TWT STANDPIPE JOINT REPAIR (TYPE 2)	5.00	EA	\$ 66,780.40	\$	333,902.00
998.14	TWT STANDPIPE JOINT REPAIR (TYPE 4)	1.00	EA	\$ 67,137.00	\$	67,137.00
998.15	TWT STANDPIPE JOINT REPAIR (TYPE 5)	2.00	EA	\$ 100,171.00	\$	200,342.00
998.73	VENT BUILDING 1 EGRESS CORR DRAINAGE - PLUMBING	1.00	LS	\$ 161,053.00	\$	161,053.00
998.82	PUMP STATION SLUICE GATE OPERATOR REPAIR	3.00	EA	\$ 74,157.00	\$	222,471.00
998.821	PUMP STATION SLUICE GATE REPAIR TYPE A	1.00	EA	\$ 75,893.00	\$	75,893.00
998.822	PUMP STATION SLUICE GATE REPAIR TYPE B	3.00	EA	\$ 103,542.00	\$	310,626.00
998.83	PUMP STATION WEIR VALVE REPAIR	2.00	EA	\$ 22,564.00	\$	45,128.00
						·
						•
			•			
		Tot	tal Amount		\$	2,085,283.00

M/WBE COMPANY NAME: Harding & Smith	\ D
M/WBE AUTHORIZED SIGNATURE:	July .
NAME & TITLE (PRINT): Jaana Lucek	x, president

TELEPHONE # (508) 668-8100 FAX # (508) 668-8284

THE COMMONWEALTH OF MASSACHUSETTS

Executive Office for Administration and Finance SUPPLIER DIVERSITY OFFICE

One Ashburton Place, Suite 1410
Boston, MA 02108-1552
Maura Healey
Governor
Kim Driscoll
Lieutenant Governor
Matthew Gorzkowicz
Secretary
William M. McAvoy
Executive Director

9/16/2024

Ms. Jaana Lucek Harding & Smith, LLC 2000 Main St. Walpole, MA 02081

Dear Ms. Lucek:

Congratulations! Your firm has been recognized as a women-owned business enterprise (WBE) by the Massachusetts Supplier Diversity Office ('SDO') based on your certification by the Women's Business Enterprise National Council. Based on this information, your firm is now listed as a WBE business entity in the <u>SDO Certified Business Directory</u>.

Your certification designation as a WBE is **Valid until September 12, 2025**. unless revoked pursuant to 425 CMR §2.00. It is your responsibility to contact your Third-Party Certifying Organization before your next renewal expiration date and provide SDO with your new renewal certification letter or certificate. If your certification has not been renewed with the Women's Business Enterprise National Council, your firm will be removed from the <u>SDO Certified Business Directory</u>.

SDO also reserves the right to monitor your firm and to perform random spot checks to ensure the firm continues to meet the certification criteria. Commonwealth of Massachusetts certification does not imply or guarantee that your firm will obtain any state work.

Your firm is required to notify the SDO of any material changes to its business contact information or business description with the Women's Business Enterprise National Council via your SDO Account. The firm also has a duty to report decertification and debarment notices from Massachusetts or any other jurisdiction. Failure to abide by the continuing duty requirements shall constitute grounds for the organization's decertification.

To expand your Commonwealth of Massachusetts' business opportunities, please visit SDO's <u>resources page</u>. Should you have any questions, please feel free to contact us via email at webmaster.sdo@mass.gov.



THE COMMONWEALTH OF MASSACHUSETTS

Executive Office for Administration and Finance SUPPLIER DIVERSITY OFFICE

One Ashburton Place, Suite 1410
Boston, MA 02108-1552
Maura Healey
Governor
Kim Driscoll
Lieutenant Governor
Matthew Gorzkowicz
Secretary
William M. McAvoy

Executive Director

Sincerely,

Wanda Colon-D'Angelo

Wanda Colon-DAngelo.

Director, Diverse and Small Business Certification

MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 1 OF 2

MASSDOT PROJECT NUMBER: 612603
PROJECT LOCATION: BOSTON
PROJECT EOCATION. BOSTON
DATE OF BID OPENING: August 19, 2025

FROM Taibbi Equipment Corporation
(Minority or Women's Bus ness Enterprise Company)
TO: J.F. White Contracting Co.
(Name of Prime Contractor)

- 1. My company is currently certified as an MBE or WBE by the Massachusetts Supplier Diversity Office, formerly known as the State Office of Minority and Women Business Assistance (SOMWBA). There have been no changes affecting the ownership, control or independence of my company since my last certification review.
- 2. If any such change occurs prior to my company's completion of this proposed work, I will give written notification to your firm and to the Massachusetts Department of Transportation (MassDOT).
- 3. (For contractor activity only.) My firm will provide to you, upon request, for the purpose of obtaining subcontractor approval from MassDOT; (1) a resume stating the qualifications and experience of the superintendent or foreperson who will supervise on site-work; (2) a list of equipment owned or leased by my firm for use on the project; (3) a list of all projects (public or private) which my firm is currently performing, is committed to perform, or intends to make a commitment to perform. I shall include, for each project, the names and telephone number of a contact person for the contracting organization, the dollar value of the work, a description of the work, and my firm's work schedule for the Project.
- 4. If you are awarded the Contract, my company intends to enter into an agreement with your firm to perform the items of work or other activity described on the following sheet for the prices indicated.
- 5. My firm has the ability to manage, supervise and perform the activity described on the following page.

M/WBE Authorized Signature

Date

MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 2 OF 2

		PAGE 2 OF 2			
MA	ASSDOT PROJECT	Г NUMBER: 612603			
PR	OJECT LOCATIO	N: BOSTON			
DA	TE OF BID OPEN	IING: <u>August 19, 2025</u>			
NA	ME OF PRIME BI	IDDER: J.F. White Contracting Co.		<u>_</u>	
				,	
	<u>Item number</u> if applicable	Description of Activity with notations such as Installation Only, Material Only, or Complete	Quantity	Unit Price	Amount
	Various	Triaxle w/ Teamster	1,450 hrs	\$150.00	\$217,500.00
İ					
j					
ı					
			TOTAL AMO	DUNT:	\$217,500.00
	WBE COMPANY I		ration		
	ME AND TITLE (Pro	. d.	
TEI	LEPHONE NUMB	ER: 75,245-6307 FAXN	UMBER: <u>フら</u>	1-729-	9574
					Rev'd 9/20/19

*** END OF DOCUMENT ***

THE COMMONWEALTH OF MASSACHUSETTS

Executive Office for Administration and Finance SUPPLIER DIVERSITY OFFICE

One Ashburton Place, Suite 1017
Boston, MA 02108-1552
Maura Healey
Governor
Kim Driscoll
Lieutenant Governor
Matthew Gorzkowicz
Secretary
William M. McAvoy
Executive Director

March 7, 2023 Ms. Lynne Taibbi Taibbi Equipment Corp. 80 New Salem Street Wakefield, MA 01880

Dear Ms. Taibbi:

Congratulations! Your firm has been renewed as a woman business enterprise (WBE) with the Supplier Diversity Office ('SDO') under the business description of TRUCKING, EQUIPMENT AND TRUCK RENTAL, ROCK AND CONCRETE BREAKING, SITE EXCAVATING AND DEMOLITION; POWER SWEEPING SERVICES INCLUDING STREET CLEANING, PARKING LOTS & CONSTRUCTION SITES. Your firm will be listed in the SDO Certified Business Directory and the Massachusetts Central Register under this description. This letter serves as the sole proof of your SDO certification. Your designation as a WBE is valid for three (3) years unless revoked pursuant to 425 CMR 2.00.

Your firm's next renewal date is April 26, 2026. SDO will send written renewal notices to your business and/or e-mail address on file approximately thirty (30) business days prior to your firm's three (3) years certification anniversary. Additionally, every six (6) years, certified companies that wish to remain certified may undergo a substantive review which will require certain updated supporting documentation.

SDO also reserves the right to monitor your firm and to perform random spot checks to ensure the firm continues to meet the certification criteria. Your firm is required to notify the SDO in writing of any material changes. Examples include but are not limited to changes in its business description, as well as business phone number, fax number, business' physical location, webpage and e-mail addresses. Other reportable changes include business structure, ownership (the business is sold or transferred), control and outside employment. You also have a duty to report decertification and debarment notices from this or any other jurisdiction. Failure to abide by the continuing duty requirements shall constitute grounds for the firm's decertification.

Sincerely,

William M. McAvoy Executive Director

William M. M. Avoy

MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT PAGE 1 OF 2

MASSDOT PROJECT NUMBER: 612603				
PROJEC"	T LOCATION: BOSTON			
DATE O	F BID OPENING: 08/19/2025			
FROM	Saugus Construction Corporation			
-	(Minority or Women's Business Enterprise Company)			
TO:	J.F. White Contracting Company			
	(Name of Prime Contractor)			

- 1. My company is currently certified as an MBE or WBE by the Massachusetts Supplier Diversity Office, formerly known as the State Office of Minority and Women Business Assistance (SOMWBA). There have been no changes affecting the ownership, control or independence of my company since my last certification review.
- 2. If any such change occurs prior to my company's completion of this proposed work, I will give written notification to your firm and to the Massachusetts Department of Transportation (MassDOT).
- 3. (For contractor activity only.) My firm will provide to you, upon request, for the purpose of obtaining subcontractor approval from MassDOT; (1) a resume stating the qualifications and experience of the superintendent or foreperson who will supervise on site-work; (2) a list of equipment owned or leased by my firm for use on the project; (3) a list of all projects (public or private) which my firm is currently performing, is committed to perform, or intends to make a commitment to perform. I shall include, for each project, the names and telephone number of a contact person for the contracting organization, the dollar value of the work, a description of the work, and my firm's work schedule for the Project.
- 4. If you are awarded the Contract, my company intends to enter into an agreement with your firm to perform the items of work or other activity described on the following sheet for the prices indicated.
- 5. My firm has the ability to manage, supervise and perform the activity described on the following page.

Usha Wood	August 22, 2025
M/WBE Authorized Signature	Date

MINORITY OR WOMEN'S BUSINESS ENTERPRISE PARTICIPATION LETTER OF INTENT

PAGE 2 OF 2

MASSDOT PROJECT NUMBER: 612603
PROJECT LOCATION: BOSTON
DATE OF BID OPENING: 08/19/25

NAME OF PRIME BIDDER: JF WHITE CONTRACTING COMPANY

Item # if apllicable	<u>Description of Activity</u> with notations such as Installartion Only, Material Only, or Complete	Qty	<u>Units</u>	u	Init Price	Bio	d Item Total
107.972	CALLAHAN PORTAL PUMP STATION STAIR REPLACEMENT (partial)	2.00	EA	\$	8,335.00	\$	16,670.00
107.973	CALLAHAN TUNNEL CEILING STRINGER TYPE 1 REPLACE (partial)	25.00	EA	\$	8,335.00	\$	208,375.00
107.974	CALLAHAN TUNNEL CEILING STRINGER TYPE 2 REPLACE (partial)	5.00	EA	\$	8,335.00	\$	41,675.00
107.975	HANGER TYPE 1 INSTALL (partial)	10.00	EA	\$	8,335.00	\$	83,350.00
107.976	HANGER TYPE 2 INSTALL (partial)	10.00	EA	\$	8,335.00	\$	83,350.00
107.977	HANGER TYPE 3 INSTALL (partial)	15.00	EA	\$	8,335.00	\$	125,025.00
107.978	HANGER TYPE 4 INSTALL (partial)	5.00	EA	\$	8,335.00	\$	41,675.00
		Tot	al Amount			\$	600,120.00

M/WBE COMPANY NAME: Saugus Construction, Corporation					
M/WBE AUTHORIZED SIGNATURE:	Usha Wood				
NAME & TITLE (PRINT):	Usha Wood				
TELEDIANE # /079) 252-7171	EAV # (079) 252-7009				

THE COMMONWEALTH OF MASSACHUSETTS

Executive Office for Administration and Finance SUPPLIER DIVERSITY OFFICE

One Ashburton Place, Suite 1017
Boston, MA 02108-1552
Charles D. Baker
Governor
Karyn E. Polito
Lieutenant Governor
Michael J. Heffernan
Secretary
William M. McAvoy
Executive Director

January 4, 2023
Ms. Usha N. Wood
Saugus Construction Corporation
One Farm Lane
Georgetown, MA 01833

Dear Ms. Wood:

Congratulations! Your firm has been renewed as a minority and woman business enterprise (MBE and WBE) with the Supplier Diversity Office ('SDO') under the business description of STEEL **ERECTION** AND REINFORCING, **IRON** WORK AND INSTALLATION OF **CONCRETE INCLUDING:** PANELS/SLABS, PRODUCTS. **PRECAST PRESTRESSED** BEAMS/SLABS. CURTAIN WALLS. Your firm will be listed in the SDO Certified Business Directory and the Massachusetts Central Register under this description. This letter serves as the sole proof of your SDO certification. Your designation as a MBE and WBE is valid for three (3) years unless revoked pursuant to 425 CMR 2.00.

Your firm's next renewal date is January 13, 2026. SDO will send written renewal notices to your business and/or e-mail address on file approximately thirty (30) business days prior to your firm's three (3) years certification anniversary. Additionally, every six (6) years, certified companies that wish to remain certified may undergo a substantive review which will require certain updated supporting documentation.

SDO also reserves the right to monitor your firm and to perform random spot checks to ensure the firm continues to meet the certification criteria. Your firm is required to notify the SDO in writing of any material changes. Examples include but are not limited to changes in its business description, as well as business phone number, fax number, business' physical location, webpage and e-mail addresses. Other reportable changes include business structure, ownership (the business is sold or transferred), control and outside employment. You also have a duty to report decertification and debarment notices from this or any other jurisdiction. Failure to abide by the continuing duty requirements shall constitute grounds for the firm's decertification.

Sincerely,

William M. McAvoy Executive Director

William M. M. Avoy